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STOICHIOMETRY

1. A mixture of NHyNO; and (NH,),HPO, contain 3040% mass per
cent of nitrogen. What is the mass ratio of the two components in the
mixture ?

A(a)2:1

B.(b)1:2

C.(c)3:4

D.(d)4:1


https://doubtnut.app.link/lkek2J5wfhb
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https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_X4uPAyW3waee

Answer: A

° Watch Video Solution

2. What volume of 75% alcohol by weight (d — 0.80g/cm3) must be used
to prepare 150 cm?® of 30 % alcohal by mass (d = O.909/cm3) ?

A. (a) 67.5 mL

B. (b) 56.25 mL

C.(c) 4444 mL

D. (d) None of these

Answer: A

o Watch Video Solution

3. Calculate the number of millilitre of NHj3(aq) solution (d=0.986g/ml)

contain 2.5% by mass N Hj, which will be required to precipitate iron as


https://dl.doubtnut.com/l/_X4uPAyW3waee
https://dl.doubtnut.com/l/_hLRFUx10iQ5F
https://dl.doubtnut.com/l/_oM2IhVW8Zsp8

Fe(OH), in a 0.8 g sample that contains 50% Fe;Os.

A. 0344 mL
B.3.44 mL
C.17.24 mL

D.10.34 mL

Answer: D

o Watch Video Solution

4.In the preparation of iron from haematite (Fe;03) by the reduction

with carbon
F6203 +C—) F€+COZ
how much 80% pure iron may be produced from 120 kg of 90% pure

F6203?

A.94.5 kg

B. 60.48 kg


https://dl.doubtnut.com/l/_oM2IhVW8Zsp8
https://dl.doubtnut.com/l/_w971pymmmDeb

C.116.66 kg

D. 120 kg

Answer: A

o Watch Video Solution

5. A mineral consists of an equimolar mixture of the carbonates of two
bivalent metals. One metal is present to the extent of 12.5% by mass.2.8 g
of the mineral on heating loat 1.32 of CO,. What is the % by mass of the
other metal ?

A. 875

B.35.71

C. 651

D. 23.21

Answer: D



https://dl.doubtnut.com/l/_w971pymmmDeb
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6. 6.2 g of a sample containing NaHCQOs3, NaHCOj3 and non -volatiale
inert impurity on gentle heating loses 5% of its mass due to reaction
2NaHCO3 — NayCO3 + Hy0 + CO5. Residue is dissolved in water
and formed 100 mL solution and its 10 mL portion requires 7.5 mL of 0.2
M aqueous solution of BaCl, for complete precipitation of carbonates.
Determine mass (in gram) of Na,COj in the original sample .

A. 159

B. 1.06

C.0.53

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CrRyIs2pmELV
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7. Nitric acid canbe produced from NHjin three steps process given
below

(04N H3(g) + 50,(g) — 4NO(g) + 6H,0(g)

(IN2NO(g) + Oa(g) — 2NO3(g)

3NOs(g) + H,O(l) — 2HNO3(aq) + NO(g)

percent yield of 1%¢ 2" and 3" steps are respectively 50%,60% and 80%
respectivley then what volume of NH3(g) at 1 atm and 0°required to

produced1575 g of HNO; .

A.156.25
B.350L
C.3500L

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8npy7AoHAA3Q

8.1 M NaOH solution was slowly added in to 1000 mL of 183.75 g impure
H,50, solution and the following plot was obtained. The percentage

purity of HySO, sample and slope of the curve respectively are:
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D. None of these

Answer: C


https://dl.doubtnut.com/l/_9AF1gS9fBnZS

o Watch Video Solution

9. MnO- on ignition converts into Mn30,. A sample of pyrolusite having

75% MnO,, 20% inert impurities and rest water is ignited in air to

constant mass. What is the percentage of Mn in the ignited sample ?

A. (a) 0.246

B. (b) 0.37

C.(c) 0.5524

D. (d) 0.7405

Answer: C

o Watch Video Solution

10. A 1.0g sample of a pure organic compound cotaining chlorine is fused
with NayO- to convert chlorine to NaCl. The sample is then dissolved in

water, and the chloride precipitated with AgNOs, giving 1.96 g of AgCl. If
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the molecular mass of organic compound is 147, how many chlorine does

each molecule contain ?

Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution

11. A 0.6gm sample consisting of only CaC50,4 and MgC50y is heated at
500° Cgets converted into CaCOs; and MgCQOs. The sample then
weighed 0.465gm. If the sample had been heated to 900° C' where the
products are CaO and MgO, then what would the mixture of oxides

weigh?

A.0l12g


https://dl.doubtnut.com/l/_qTskxACaW40A
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B.021g

C.0252g

D.03g

Answer: C

o Watch Video Solution

12. A metal M forms the sulphate M;(SOy),. A 0.596 gram sample of the
sulphate reacts with excess BaCl; to give 1220 g BaSO,. What is the
atomic mass of M ?

A. 26.9

B. 69.7

C.558

D.23

Answer: A

[ - 1


https://dl.doubtnut.com/l/_9zn2QaBiFlZS
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| @ Watch Video Solution J

13. Urea(H,NCONH,) is manufactured by passing COs(g) through
ammonia solution followed by crystallization. For the above reaction is
prepared by combustion of hydrocarbons. If combustion of 236 kg of a
saturated hydrocarbon (C,, Hs, ) produces as much CO, as required
for production of 999.6 kg urea then molecular formula of hydrocarbon is:

D. Cngg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bFRaz9VsphT2
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14.11.6 g of an organic compound having formula (C,,Hs, . 2) is burnt in
excess of Os(g) initially taken in a 22.41 litre steel vessel. Reaction the
gaseous mixture was at 273 K with pressure reading 2 atm. After
complete complete combustion and loss of considerable amount of heat,
the mixture of product and excess of O, had a temperature of 546 K and
4.6 atm pressure. The formula of organic compound is :

C. C5H12

D. C4H10

Answer: D

o Watch Video Solution

40 % yield

50 % yield
HyOy + 2KMnOy + 3H>804 ———% K804 + 2MnSO4 + 30 + 4H>0


https://dl.doubtnut.com/l/_Fit5pZQbPjqa
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150mL of Hy0, sample was divided into two parts. First part was treated
with KI and formed KOH required 200 mL of M /2H,S0O, for
neutralisation. Other part was treated with KMnQO, yielding 6.74 litre of
O, at 1 atm. and 273 K. Using % yield indicated find volume strength of
H,0, sample used.

A.5.04

B.10.08

C.3.36

D.33.6

Answer: D

o Watch Video Solution

16. SO,Cl5 (sulphuryl chloride ) reacts with water to given a mixture of
H,SO4 and HCL. What volume of 0.2 M Ba(OH), is needed to

completely neutralize 25 mL of 0.2 M SO, Cl, solution:


https://dl.doubtnut.com/l/_Z81kkw9TGBnk
https://dl.doubtnut.com/l/_4PGDlipCN2f2

A. 25 mL

B. 50 mL

C.100 mL

D.200 mL

Answer: B

o Watch Video Solution

17. 5 g sample contain only Na;COs and NaySO, . This sample is
dissolved and the volume made up to 250 mL. 25 mL of this solution
neutralizes 20 mL of 01 M H5S50,.
Calcalute the % of Nay SO, in the sample .

A 424

B.57.6

C.36.2

D. None of these


https://dl.doubtnut.com/l/_4PGDlipCN2f2
https://dl.doubtnut.com/l/_UmlNqkjo7LJd

Answer: B

° Watch Video Solution

18. 20 mL of 0.2 M NaOH(aq) solution is mixed with 35 mL of this 0.1 ML
NaOH (aq) solution and the resultant solution is diluted to 100 mL. 40 mL
of this diluted solution reacted with 10% impure sample of oxalic acid
(HyC50,) The mass of impure is:

A.015 gram

B. 0.135 gram

C.0.59 gram

D. None of these

Answer: A

° Watch Video Solution
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19. A silver coin weighing 11.34 g was dissolved in nitric acid When sodium
chloride was added to the solution all the silver (present as AgNOs)
precipitated as silver chloride. The mass of the precipitated silver chloride
was 14.35 g. Calculate the percentage of silver in the coin.

A. 48%

B.95.2%

C.90%

D. 80%

Answer: B

o Watch Video Solution

20. Two elements A and B combine chemically to from compounds
combining with a fixed mass of A in I, 1l and Il is 1:3:5, if 32 parts by
mass of A combine with 84 parts by mass of B in Il, then I, 16 parts of A

will combine with............ by mass of B.


https://dl.doubtnut.com/l/_bM4RFSXjbSsd
https://dl.doubtnut.com/l/_HrDkA2ArqELr

(a) 14 parts by mass of Y
(b) 42 parts by mass of Y
(c) 70 parts by mass of Y
(d) 84 parts by mass of Y
A. 14 parts by mass of Y
B. 42 parts by mass of Y

C. 70 parts by mass of Y

D. 84 parts by mass of Y

Answer: C

o Watch Video Solution

21. The conversion of oxygen to ozone occurs to the extent of 15% only.

The mass of ozone that can be prepared from 67.2 L of oxygen at 1 atm

and 273 K will be :

Al44g


https://dl.doubtnut.com/l/_HrDkA2ArqELr
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B.96 g

C.640 g

D.64 g

Answer: A

o Watch Video Solution

22. RH, (ion exchange resin) can replace Ca®" ions in hard water as
RH, + Ca*"™ — RCa + 2H " . If L of hard water after passing through
RH, has pH=3 then hardness in parts per million of Ca®" is

A. 20

B.10

C.40

D. 100

Answer: A

[ - 1
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| @ Watch Video Solution J

23.100cm? of a solution of an acid (Molar mass =98) containing 29.4 g of
the acid per litre were completely neutrazed by 90.0cm?® of aq. NaOH
cotaining 20 g of NaOH per500cm?. The basicity of the acid is

A3

B.2

C.1

D. data insufficient

Answer: A

o Watch Video Solution

24. 20 mL of 0.1 M solution of compound NaCOs. NaHCO3.2H,50 is

titrated against 0.05 M HCL. X mL of HCL is used when phenolphthalein is


https://dl.doubtnut.com/l/_JkZJKVfMUMPx
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used as an indicator and y mL of HCL is used when methly orange is the

indicator in two separate titrations. Hence (y-x) is:

A.40 mL

B. 80 mL

C.120 mL

D. None of these

Answer: B

o Watch Video Solution

25. A sample containing H AsO, (mol. Mass=108) and weighing 3.78 g is
dissolved and diluted to 250 mL in a volumetric flask. A 50 mL sample
(aliquot) is withdrawn with a pipet and titrated with 25 mL of 0.05 M

solution of I,. Calculate the percentage HAsO, in the sample:

A.0.25

B.0.2


https://dl.doubtnut.com/l/_te9El0MugMzb
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C.01

D. None of these

Answer: A

° Watch Video Solution

26. A mixture of FeO and Fe;O3 is completely reacted with 100 mL of 0.25
M acidified KMnQ, solution. The resultant solution was then treated
with Zn dust which converted Fe®™ of the solution to Fe?>™ The Fe?™"
required 1000 mL of 010 M K,Cr,0; solution. Find out the weight %
Fe;03 in the mixture.

A. 80.85

B.19.15

C.50

D. 89.41

Answer: A


https://dl.doubtnut.com/l/_fBaoBL39vnhc
https://dl.doubtnut.com/l/_6v3AYNsf3mAi

o Watch Video Solution

27.To a 10mL, 1M aqueous solution of Br,, excess of NaOH is added so
that all Bry is disproportionated to Br~ and BrO; . The resulting
solution is free from Br ~, by extraction and excess of OH ~ neutralised
by acidifying the solution. The resulting solution is suffcient to react with
2 g of impure CaC504(M= 128g/mol) sample. The % purity of oxalate
sample is :

A.0.853

B. 0.125

C.09

D. 0.64

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6v3AYNsf3mAi
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28. 0.10 g of a sample containing CuC QO3 and some inert impurity was
dissolved in dilute sulphuric acid and volume made up to 520 mL. This
solution was added into 50mL of 0.04 M Kl solution where copper
precipitates as Cul and I~ is oxidized into I; . A 10 mL portion of this
solution is taken for analysis, filtered and made up free I;” and then
treated with excess of acidic permanganate solution. Liberated iodine
required 20 mL of 2.5 mM sodium thiosulphate solution to reach the end
point.

Determine mass percentage of CuCOj in the original sample.

A 741
B. 741
C.61.75

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vcenmJJhtdKO
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29. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requres x mole of KMnQ, in acidic medium for complete oxidation. X is:

A. 0.5 mole

B. 0.9 mole

C.1.2 mole

D. 4.5 mole

Answer: B

o Watch Video Solution

30. An impure sample of sodium oxalate (NayC>0, weighing 0.20 g is
dissolved in aqueous solution of H,S0,) and solution is titrated at
70° C\requiring 45 mL of 0.02 M KMnQO, solution. The end point is
overrun, and back titration in carried out with 10 mL of 0.1 M oxalic acid
solution. Find the purity of Na;Cy04 in sample:

(a)75


https://dl.doubtnut.com/l/_rSTGgmhka9Td
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(b)83.75

(c)90.25

(d)None of these

A 75

B. 83.75

C.90.25

D. None of these

Answer: B

o Watch Video Solution

31. 0.5 gmixture of KyCryO; and KMnQO, was treated with excess of Ki
in acidic medium. lodine liberated required 150cm?® of 010 N solution of
thiosulphate solution for titration.

Find trhe percentage of K5Cr,07 in the mixture :

A.14.64


https://dl.doubtnut.com/l/_eE92ng62UYwB
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B.34.2

C.65.69

D. 50

Answer: A

o Watch Video Solution

32. A 150 mL of solution of I, is divided into two unequal parts. | part
reacts with hypo solution solution in acidic medium. 15m Lo f0.4Mhypo
was consumed. Il part was added with 100mLof0.3M NaOH solution.
Residual base required 10mL0.3MH,SO, solution for complete
neutralization. What was the initial concentration of I, ?

A.0.08 M

B.0O1 M

C.02 M

D. None of these


https://dl.doubtnut.com/l/_PFvLq0SkxnjX
https://dl.doubtnut.com/l/_Txc1X5g9jliu

Answer: B

o Watch Video Solution

33. A mixture of HySO4 and H,C50, (oxalic acid ) and some inert
impurity weighing 3.185 g was dessolved in water and the solution made
up to 1litre. 10 mL of this solution required 3 mL of 01 N NaOH for
complete neutralization. In another experiment 100 mL of the same
solution in hot condition required 4 mL of 0.02 M KMnQ, solution for
complete reaction. The mass % of Hy SO, in the mixture was:

A. 40

B. 50

C.60

D. 80

Answer: A

o Watch Video Solution
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34.During developing of an exposed camera film, one step involves in the

following reaction
HO@OH +2AgBr +20H —» o:@:o T CERITE
(Quinol)

Which of the following best describes the role of quinol?
(a)lt acts as an acid
(b)It acts as reducing agent
(c)It act as oxidant
(d)It acts as a base
A. It acts as an acid
B. It acts as reducing agent

C. It acts as oxidant

D. It acts as a base

Answer: B

o Watch Video Solution
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35. The concentration of an oxalic acid solution is z mol litre ! . 40mL of
this solution reacts with 16 mL of 0.05 M acidified K MnQO,. What is the
pH = M oxalic acid solution ? (Assume that oxalic acid dissociates

completely.)

Answer: C

° Watch Video Solution

1. Oleum is considered as a solution of SO3 in HyS50,, which is obtained

by passing SOj in solution of HySO4 When 100 g sample of oleum is


https://dl.doubtnut.com/l/_SFJ6B1Kzwtys
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diluted with desired mass of H,O then the total mass of H,S0,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as 109% H5S0, means the 109 g
total mass of pure Hy,SO, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form HyS0,4 as SO3 + H,O — H,S50,

What is the % of free SO in an oleum that is labelled as 104.5% H5SO, ?

A.10

B. 20

C.40

D. None of these

Answer: B

o Watch Video Solution

2.0Oleum is considered as a solution of SO3 in HyS50,, which is obtained

by passing SOj3 in solution of Hy,SO, When 100 g sample of oleum is


https://dl.doubtnut.com/l/_v8UwfVhQVnMU
https://dl.doubtnut.com/l/_yDoWsdjdv08v

diluted with desired mass of H,O then the total mass of H,S0,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '109 % H,SO,' means the 109 g
total mass of pure Hy,SO, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form HyS0,4 as SO3 + H,O — H,S50,

9.0 g water is added into oleum sample lablled as "112%" H,SO, then the

amount of free SO3remaining in the solution is : (STP=1 atm and 273 K)

A.14.93 Lat STP

B.746 L at STP

C.3.73 Lat STP

D.11.2 L at STP

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yDoWsdjdv08v

3.0leum is considered as a solution of SO3 in HyS50,, which is obtained
by passing SOj3 in solution of Hy,50O, When 100 g sample of oleum is
diluted with desired mass of H,0O then the total mass of H,S50,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '109 % H,SO,' means the 109 g
total mass of pure Hy S50, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form Hy,S0, as SO5 + H,O — H550y

If excess water is added into a bottle sample labelled as "112%H,50,"
and is reacted with 5.3 g NaCOj3 then find the volume of C'O, evolved at
1 atm pressure and 300 K temperature after the completion of the

reaction :

A 246L

B.246L

C.123L

D.123 L


https://dl.doubtnut.com/l/_ZpJuwFuMG4WR

Answer: C

° Watch Video Solution

4.0leum is considered as a solution of SO3 in HyS50,, which is obtained
by passing SOj3 in solution of Hy,SO, When 100 g sample of oleum is
diluted with desired mass of H,0O then the total mass of H,50,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '019 % H,SO,' means the 109 g
total mass of pure Hy,SO, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form Hy S04 as SO3 + H,O — H550,

1 g of oleum sample is diluted with water. The solution required 54 mL of

0.4 N NaOH for complete neutralization. The % free SOj3 in the sample is :

(c)20

(d)None of these


https://dl.doubtnut.com/l/_ZpJuwFuMG4WR
https://dl.doubtnut.com/l/_LsgRmkAx2pIQ

A 74

B. 26

C.20

D. None of these

Answer: B

o Watch Video Solution

1. The strength of H,0O, is expressed in several ways like molarity,

normality,% (w/V), volume strength, etc. The strength of "10 V" means 1
volume of HyO, on decomposition gives 10 volumes of oxygen at 1 atm
and 273 K or 1 litre of HyO-gives 10 litre of O, at 1 atm and 273 K The
decomposition of HyO5 is shown as under :

Hy03(aq) — HyO(I) + %02(9)

H,0, can acts as oxidising as well as reducing agent. As oxidizing agent


https://dl.doubtnut.com/l/_LsgRmkAx2pIQ
https://dl.doubtnut.com/l/_RtsP1hNd215Q

H,0, is converted into HyO and as reducing agent H,O, is converted
into Os. For both cases its n-factor is 2. .. Normality ofH50, " solution
" = 2 x molarity of H5O5 solution
What is the molarity of "11.2 V" HyO4 ?

ATM

B.2M

C.56M

D.112M

Answer: A

o Watch Video Solution

2. The strength of H;0, is expressed in several ways like molarity,
normality,% (w/V), volume strength, etc. The strength of "10 V" means 1
volume of HyO, on decomposition gives 10 volumes of oxygen at 1 atm
and 273 K or 1 litre of HyO»gives 10 litre of O, at 1 atm and 273 K The

decomposition of HyO5 is shown as under :


https://dl.doubtnut.com/l/_RtsP1hNd215Q
https://dl.doubtnut.com/l/_S2hc08qU8gAV

1

Hy05(aq) — H>O(1) + 502(9)
H,0, can acts as oxidising as well as reducing agent. As oxidizing agent
H,0, is converted into H,O and as reducing agent H,O, is converted
into Oy. For both cases its n-factor is 2. .. Normality of H50,
solution = 2 x molarity of H,O, solution
What is thepercentage strength (%w/V) of "11.2 V" HyO,

A 17

B.34

C.34

D. None of these

Answer: B

o Watch Video Solution

3. The strength of H;0, is expressed in several ways like molarity,
normality,% (w/V), volume strength, etc. The strength of "10 V" means 1

volume of HyO, on decomposition gives 10 volumes of oxygen at 1 atm


https://dl.doubtnut.com/l/_S2hc08qU8gAV
https://dl.doubtnut.com/l/_YRqf8odOYTBG

and 273 K or 1 litre of HyOsgives 10 litre of O, at 1 atm and 273 K The
decomposition of HyO5 is shown as under :

Hy05(aq) — H>O(1) + %02(9)

H,0, can acts as oxidising as well as reducing agent. As oxidizing agent
H,0, is converted into H5O and as reducing agent H,O, is converted
into Os. For both cases its n-factor is 2. .. Normality ofH50, "solution"
= 2 X molarity ofH,O, solution

20mL of H50, solution is reacted with 80 mL of 0.05 MKMnQO, "in

acidic medium then what is the volume strength of" HyO, ?

A .28
B.5.6
CNn2

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YRqf8odOYTBG

4. The strength of H,0, is expressed in several ways like molarity,
normality,% (w/V), volume strength, etc. The strength of "10 V" means 1
volume of H,O, on decomposition gives 10 volumes of oxygen at 1 atm
and 273 K or 1 litre of HyOsgives 10 litre of O, at 1 atm and 273 K The
decomposition of HyO, is shown as under :

H,0,(ag) — H,0() + 50x(s)

H,0, can acts as oxidising as well as reducing agent. As oxidizing agent
H,0, is converted into H5O and as reducing agent HyO, is converted
into O,. For both cases its n-factor is 2. .. Normality ofH50, " solution
" = 2 x molarity ofH,O, solution

40 g Ba(MnO,), (molmass=375) sample containing some inert
impurities in acidic medium completely reacts with 125 mL of "33.6 V" of

H,0,. What is the percentage purity of the sample ?

A. 0.2812
B. 0.7031
C.0.85

D. None of these


https://dl.doubtnut.com/l/_W7memmLvYG77

Answer: B

o Watch Video Solution

1. A water is said to be soft water if it produces sufficient foam with the

soap and water that does not produce foam with soap is known as hard
water. Hardness has been classified into two types (i)Temporary hardness
(ii) Permanent hardness.

Temporary hardness is due to presence of calcium and magnesium
bicarbonate. It is simply removed by boiling as

Ca(HCOy), 2 CaCOy | +CO, | + Hy0

Mg(HCO3), 5 MgCOy | +CO, | + Hy0

temporary hardness can also be removed by addition of slaked lime,
Ca(OH),

Ca(HCOs), + Ca(OH), — 2CaCO3 | + 2H,0

permanent hardsness is due to presencce of sulphates and chlorides of


https://dl.doubtnut.com/l/_W7memmLvYG77
https://dl.doubtnut.com/l/_dFt7W13bJAdu

Ca,Mg.etc. It is removed by washing soda as

CaCly + NayCO3 — CaCO3 | + 2NaCl

CaSO(4) + NayCO3 — CaCO3 | + NaySO,

Permanent hardness also removed by ion exchange resin process as

2RH + Ca’* — RyCa +2H ™"

2ROH + SO3~ — R,S0, + 20H ~

The degree of hardness of water is measured in terms of PPm of CaCOj3
100 PPm means 100 g of CaCOs is present in 10° g of H,O. If any other
water sample which contain 120 PPm of MgSO,, hardness in terms of
CaCOs is equal to =100 PPm.

One litre of a sample of hard water (d=1 g/mL) cotains 136 mg of Ca SO,
and 190 mg of MgCl,. What is the total hardness of water in terms of

CaCO3?
A.100 ppm
B. 200 ppm

C.300 ppm

D. None of these


https://dl.doubtnut.com/l/_dFt7W13bJAdu

Answer: C

° Watch Video Solution

2. A water is said to be soft water if it produces sufficient foam with the
soap and water that does not produce foam with soap is known as hard
water. Hardness has been classified into two types (i)Temporary hardness
(ii) Permanent hardness.

Temporary hardness is due to presence of calcium and magnesium
bicarbonate. It is simply removed by boiling as

Ca(HCO,), 25 CaCOy | +CO, | + H,0

Mg(HCOy), 25 MgCO; | +CO, | + H,0

temporary hardness can also be removed by addition of slaked lime,
Ca(OH),

Ca(HCOs), + Ca(OH), — 2CaCO3 | + 2H,0

permanent hardsness is due to presencce of sulphates and chlorides of
Ca,Mg.etc. It is removed by washing soda as

CaCly + Na;CO3 — CaCO3 | + 2NaCl

CCLSO(4) + Na2C’03 — OCLCOg l + NCL2SO4


https://dl.doubtnut.com/l/_dFt7W13bJAdu
https://dl.doubtnut.com/l/_N85e1xFJ3eGF

Permanent hardness also removed by ion exchange resin process as

2RH + Ca®" — RyCa +2H ™

2ROH + SO;~ — RyS04 + 20H ~

The degree of hardness of water is measured in terms of PPm of CaCOj
100 PPm means 100 g of CaCOs is present in 10° g of H,O. If any other
water sample which contain 120 PPm of MgSO,, hardness in terms of
CaCQOgs is equal to =100 PPm.

What is the mass of Ca(OH), required for 10 litre of water remove

temporary hardness of 100 PPm due to Ca(HCOs), ?

A 162g
B.0.74 g
C74¢g

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_N85e1xFJ3eGF

3. A water is said to be soft water if it produces sufficient foam with the
soap and waterthat does not produce foam with soap is known as hard
water. Hardness has been classified into two types (i)Temporary hardness
(ii) Permanent hardness.

Temporary hardness is due to presence of calcium and magnesium
bicarbonate. It is simply removed by boiling as

Ca(HCOy), > CaCOy | +CO, | + Hy0

Mg(HCOy), > MgCO; | +CO, | + H,0

temporary hardness can also be removed by addition of slaked lime,
Ca(OH),

Ca(HCO3), + Ca(OH), — 2CaCO; | + 2H,0

permanent hardsness is due to presencce of sulphates and chlorides of
Ca,Mg.etc. It is removed by washing soda as

CaCly + NayCO3 — CaCO3 | + 2NaCl

CaSO(4) + NayCO3 — CaCO3 | + NaySO,

Permanent hardness also removed by ion exchange resin process as

2RH + Ca®>"™ — RyCa +2H ™

2ROH + SO, — R,S0, + 20H ~


https://dl.doubtnut.com/l/_x4omUA2nFTGO

The degree of hardness of water is measured in terms of PPm of CaCOj
100 PPm means 100 g of CaCO (3) is present in 10° g of H,O. If any other
water sample which contain 120 PPm of MgSO,, hardness in terms of
CaCQOgs is equal to =100 PPm.

A 200 g sample of hard water is passed through the column of cation
exchange resin, in which H ™ is exchanged by Ca®" The outlet water of
column required 50mL of 0.1 M NaOH for complete neutralization.What is

the hardness of Ca?™ ion in PPm?

A. 250 ppm
B. 500 ppm
C.750 ppm

D. 1000 ppm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_x4omUA2nFTGO

1. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")

n-factor is very important in redox as well as non-redox reactions. With
the help of n-factor we can predict the molar ratio of the reactant species
taking part in reactions. The reciprocal of n-factor's ratio of the reactions
is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(1)In acidic medium : KMnO,(n = 5) — Mn*"

(2) In neutral medium : KMnOy(n = 3) — Mn?>"

(3) In basic medium : KMnO4(n = 1) — Mn®*

Example 2: FeC,04 — Fe*™ + 2C0,

Total number of moles e~ lost by 1 mole of FeCy,0,

=14+1x2=3

n-factor of Ba(MNOQOy), in acidic medium is :

A.2

B.6


https://dl.doubtnut.com/l/_CehGDRJsoU9p

C.10

D. None of these

Answer: C

o Watch Video Solution

2. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With
the help of n-factor we can predict the molar ratio of the reactant species
specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(1)In acidic medium : KMnO4(n = 5) — Mn?*

(2) In neutral medium : KMnOy(n = 3) — Mn?>"

(3) In basic medium : KMnO4(n = 1) — MnS*


https://dl.doubtnut.com/l/_CehGDRJsoU9p
https://dl.doubtnut.com/l/_pgc4IErMp2Aj

Example 2: FeCy04 — Fe3t + 200,

Total number of moles e~ lost by 1 mole of FeCy,0,

=1+1x2=3

Consider the following reaction.

H;POy + NaOH — NaH,PO, + HyO

What is the equivalent mass of H3 PO, ?(mol.Wt.is M)
A M
B.'M/2

C.M/3

D. None of these

Answer: A

o Watch Video Solution

3. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With

the help of n-factor we can predict the molar ratio of the reactant species


https://dl.doubtnut.com/l/_pgc4IErMp2Aj
https://dl.doubtnut.com/l/_V9i3c7fHLMjp

specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H* /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(In acidic medium : KMnOy4(n = 5) — Mn?*

(2) In neutral medium : KMnOy(n = 3) — Mn?™"

(3) In basic medium : KMnOy4(n = 1) — MnS+

Example 2: FeCy,04 — Fe3t + 200,

Total number of moles e~ lost by 1 mole of FeCy,0,

=14+1x2=3

For the reaction, O(molar mass=M) — Fe;03 what is the eq. mass of
feo950?

A %

0.85
M

0.

o

= &

C

" 0.8075

D. None of these


https://dl.doubtnut.com/l/_V9i3c7fHLMjp

Answer: A

° Watch Video Solution

4. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With
the help of n-factor we can predict the molar ratio of the reactant species
specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(In acidic medium : KMnOy(n = 5) — Mn?"

(2) In neutral medium : KMnOy(n = 3) — Mn*"

(3) In basic medium : KMnOy(n = 1) — Mn®™"

Example 2: FeC,04 — Fe*™ + 2C0,

Total number of moles e ~ lost by 1 mole of FeCy,0,

=1+1x2=3


https://dl.doubtnut.com/l/_V9i3c7fHLMjp
https://dl.doubtnut.com/l/_eeb9Euyxqhlr

In the reaction, zVO + yFe;s0O3 — FeO + V505 what is the value of x

and y respectively?

A1)

B.2,3

C.3,2

D. None of these

Answer: B

° Watch Video Solution

1. Consider the following series of reactions :
Cly + 2NaOH — NaCl + NaClO + H,O
3NaClO — 2NaCl + NaClOs

4NaClO; — 3NaClO, + NaCl



https://dl.doubtnut.com/l/_eeb9Euyxqhlr
https://dl.doubtnut.com/l/_L8WOvGhzFwtB

How much Cl, is reqired to prepare 122.5 g of NaClO, by above

sequencial reactions ?

A.284 g

B.213 g

Cl12g

D.71g

Answer: A

o Watch Video Solution

2. Consider the following series of reactions :

Cly + 2NaOH — NaCl + NaClO + H50O

3NaClO — 2NaCl + NaClOs

4NaClO3 — 3NaClO4 + NaCl

How many moles of NaCl will be formed by using 1 mole Cly and other

reagents in excess ?


https://dl.doubtnut.com/l/_L8WOvGhzFwtB
https://dl.doubtnut.com/l/_IuV4ZOs7ekWH

A. — mole
12
B. 1.67 mole

C.1.75 mole

D. 0.75 mole

Answer: C

o Watch Video Solution

3. Consider the following series of reactions :

Cly + 2NaOH — NaCl + NaClO + H50O

3NaClO — 2NaCl + NaClOs

4NaClO3 — 3NaClO4 + NaCl

many moles NaClO3 obtained after the complection of reaction by

taking 1 mole Cl, and other reagents in excess ?

A. — mole
3

B. Zero


https://dl.doubtnut.com/l/_IuV4ZOs7ekWH
https://dl.doubtnut.com/l/_jlmFkXPuWHFm

C. — mol
7 mole

D. 1 mole

Answer: B

o Watch Video Solution

One oir More Answer is Correct

1.14 g of nitrogen represents :

A.6.02 x 10%3 N, molecules
B. 22.4 litre of N5 at 1atm and 273 K
C. 1.2 litre of N5 at 1atm and 273 K

D. 14 g of nitrogen

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_jlmFkXPuWHFm
https://dl.doubtnut.com/l/_MVwz7bkb298e

2.182 g of V5,05 contains :

A. 5 mole of oxygen atom

B. 2 mole of V atom

C. 1 mole of oxygen atom

D. 2.5 mole of oxygen atom

Answer: A::B

o Watch Video Solution

3. Select the dimensionless quantity (ies) :

A. vapour density

B. molality

C. specific gravity

D. mass fraction


https://dl.doubtnut.com/l/_MVwz7bkb298e
https://dl.doubtnut.com/l/_33sIvFGY4mhd
https://dl.doubtnut.com/l/_pSQvDpS9layK

Answer: A::C::D

° Watch Video Solution

4. Which of the following concentration terms is/are affected by a change

in temperature ?

A. Molarity

B. Molality

C. Normality

D. Specific gravity

Answer: A::C::D

° Watch Video Solution

5. Which of the following statements regarding the compound A, B, is

/are correct?


https://dl.doubtnut.com/l/_pSQvDpS9layK
https://dl.doubtnut.com/l/_zqDHJFvQhdKs
https://dl.doubtnut.com/l/_MRjYP2Db0Uou

A.1mole of A, B, contains 1 mole of Aand 1 mole B

B. 1 equivalent of A, B, contains 1 equivalent of A and 1 equivalent of

C.1mole of A, B, contains x moles of Aand y moles of B

D. equivalent mass of A, B,=equivalent mass of A +equivalent mass of

Answer: B::C::D

° Watch Video Solution

6.1 mole of Ba(OH), will exactly neutralize :

A. 0.5 mole HCL
B. 1 mole of Hy,50,
C.1mole of H3PO3

D. 2 mole of H3 PO,


https://dl.doubtnut.com/l/_MRjYP2Db0Uou
https://dl.doubtnut.com/l/_fBOVGEiGrBL8

Answer: B::C::D

o Watch Video Solution

7.The pair of species having different percentage (mass) of carbon is :

A. CchOOH and 06H1206

C. HCOOCHj3; and HCOOH

D. C2H5OH and CHgOCHg

Answer: B::D

o Watch Video Solution

8. 30mL of CH30H(d:O.Sg/cm3) is mixed with 60mL of
CQH5OH(d:O.92g/cm2) at 25°C to form a solution of density

0.889/cm3. Select the correct option(s) :



https://dl.doubtnut.com/l/_fBOVGEiGrBL8
https://dl.doubtnut.com/l/_sMl9a5Wv0i1J
https://dl.doubtnut.com/l/_TbTfMFq1Pbl0

A. Molarity and molality of resulting solution are 6.33 and 13.59

respectively

B.The mole fraction of solute and molality are 0385 and 13.59

respectively

C. Molarity and % change in volume are 0.615 and zero respectively

D.Mole fraction of solvent and molality are 0.615 and 13.59

respectively

Answer: B::C

o Watch Video Solution

9. Which of the following is/are incorrect for 17 g/L of H,O, solution ?

A.Volume strengths is 5.6 at 273 Kand 1 atm

B. Molarity of solution is 0.5 M

C.1mL of thios solution gives 2.8 mL O at 273 K and 2 atm


https://dl.doubtnut.com/l/_TbTfMFq1Pbl0
https://dl.doubtnut.com/l/_BKCLX8KvLKKW

D. The normality of solution is 2 N

Answer: A::B::C

° Watch Video Solution

10. Solutions containing 23 g HCOOH is/are :

A 46g of 70% (%)HCOOH(dSOIumn = 1.40g/mL)
B.50g of 10 M HCOOH (dstion = 1g/mL)

w
C.50g of 25% (E)HCOOH

D.46 g " of 5 M " HCOOH(dso1ution = 1g/mL)

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_BKCLX8KvLKKW
https://dl.doubtnut.com/l/_FABJ2iagMbZD

11. A sample of Hy0O, solution labelled as "28 volume" has density of 265
g/L. Mark the correct option(s) representing concentration of same
solution in other units :
(@)Mpy,0, = 2.5

w
(b) % v o 17
(c)Mole fraction of HyO5 =0.2

(dym 0, = 13.88

A Mp,0, = 2.5
w
B. % — =17
'V
C. Mole fraction of HyO5 =0.2

D. mg,o, = 13.88

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_2wencPouIEnl

12. A mixture of 100ml of CO, CO, and O, was sparked. When the
resulting gaseous mixture was passed through KOH solution,
contraction in volume was found to be 80ml, the composition of initial
mixture may be (in the same order)

A. 30 mL,60mL,JOmL

B. 30 mL,50mL, 20mL

C. 50 mL,30mL,20mL

D.20 mL,70 mL, 10 mL

Answer: A::B

o Watch Video Solution

13.1f 1 mole of H3 PO, reacts with 1 mole of X(OH), as shown below :

H3PO, + X(OH), — XHPO, + 2H,0 then

mol. mass

A. the equivalent mass of base is 5


https://dl.doubtnut.com/l/_AQhTQ8wQlLTA
https://dl.doubtnut.com/l/_0ORosAtENvgL

98
B. the eq. mass of H3 POy is 5

C.the resulting solution requires 1 mole NaOH for complete
neutralization

D. minimum 1 mole of X(OH), is required for complete neutralization

of XHPO,

Answer: A::C

o Watch Video Solution

14. In acidic medium dichromate oin osxidizes stannous ion as :
zSn?t + yCrzOg_ +zH' = aSn*T + bCr** cH,0

A. "the value of x:y is " 1:3

B. the value of x+y+z is 18

C.a:b"is"3:2

D. the value of z-cis 7


https://dl.doubtnut.com/l/_0ORosAtENvgL
https://dl.doubtnut.com/l/_CyK9OvMn6Gao

Answer: B::C::D

o Watch Video Solution

15. When a equimolar mixture of CusS and CuS is tirated with
Ba(MnOy,), in acidic medium, the final products cintain Cu®*, So, and
Mn2 " . If the mol. Mass of Cu,S, CuS and Ba(MnOy),are My, M, and

M3 respectively then :

M
A. eq. mass of CuyS is ?1
. My
B. eq. mass of CuS is e
M.
C. eq. mass of Ba(MnOy), is T?’

D. C'us and CuS both have same equivalents in mixture

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_CyK9OvMn6Gao
https://dl.doubtnut.com/l/_aEt6r0XnPey3

16. Which is/are INCORRECT statement ?

A. Equivalent mass of Hy PO is 40.5.

B. Eq. mass of H, PO, may be equal to molar mass or less than molar
mass because it depends on the reaction.

C. KMnO,4 has maximum eq. mass in acidic medium.

D. Oxidation state of Hin MgH, is greater than in H5O,.

Answer: A::C::D

° Watch Video Solution

Assertion-Reason type Questtions

1. STATEMENTS-1: Specific gravity is dimensionless.
STATEMENTS-2 : Specific gravity is density of a substance measured wirt.

density of water at 4° C.


https://dl.doubtnut.com/l/_PlHju75wZv3D
https://dl.doubtnut.com/l/_pI7XBagtd3WY

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

2. STATEMENT-1: Molarity of pure water is 55.55 M at 298K.

STATEMENT-2 : Molarity is temperature dependent.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_pI7XBagtd3WY
https://dl.doubtnut.com/l/_CSU9rIFXCigk

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: B

o Watch Video Solution

3. STATEMENT-1: Gram molecular mass of O, is 32.

STATEMENT-2: Relative atomic mass of oxygen is 32 a.m.u.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE


https://dl.doubtnut.com/l/_CSU9rIFXCigk
https://dl.doubtnut.com/l/_qb0rx8EPuCGc

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: C

o Watch Video Solution

4. STATEMENT-1: The oxidation state of S in H5S505 is 6.

STATEMENT-2: Maximum oxidation state of S is 6 because the maximum

oxidation state of an element is equal to number of its valence electrons

in it.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE


https://dl.doubtnut.com/l/_qb0rx8EPuCGc
https://dl.doubtnut.com/l/_HgCW3dZYLBh6

Answer: A

o Watch Video Solution

5. STATEMENT-1: 0.1M H3PO3(aq) solution has normality equal to 0.3 N

when completely reacted with NaOH.

STATEMENT-2 : H3PQOs is a dibasic acid.

A. If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HgCW3dZYLBh6
https://dl.doubtnut.com/l/_SQO6K2mI8RD9

6. STATEMENT-1: MnO- can act as an oxidizing agent as well as reducing
agent.
STATEMENT-2 : Oxidation state of MnQOs lies between highest and lowest
oxidation state.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0c0D7Nx2j4k5

7. STATEMENT-1: Equivalent volume of Hy is 11.2 L at 1 atm and 273 K.
STATEMENT-2 : 1/2mole H, has produced when 1 mole of H™" (aq)
accepted 1 mole of e ™.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1
C. If STATEMENT-is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

8. STATEMENT-1 : For the reaction in titration

NayCO3 + HCL — NaCl+ NaHCOQOs, the suitable indicator is


https://dl.doubtnut.com/l/_q9xUlFpgdUj3
https://dl.doubtnut.com/l/_NMlk2hrqY6ip

phennophthalein.

STATEMENT-2 : Phenolphthalein provide its colour in acidic medium.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: C

o Watch Video Solution

9. STATEMENT-1 : [Fe(CN)6]4_ — Fe’" 4+ C0y + NO; , the
equivalent mass of reactant is 3.74.

STATEMENT-2 : "Equivalent mass of reactant" = ("Mol.mass")/(61)".


https://dl.doubtnut.com/l/_NMlk2hrqY6ip
https://dl.doubtnut.com/l/_nVI3pbQEji0W

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: D

o Watch Video Solution

10. STATEMENT-1: In the balanced redox reaction,
2 AsySy + yNO; + AHy0 — aAsO, +bNO +cSO;~ +8H™  the
n-factor of As,S3 and NO, is 28 and 3 respectively.

Statement-2 : Molar ratio is reciprocal of n-factor's ratioso z: ¢ is 3: 28.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_nVI3pbQEji0W
https://dl.doubtnut.com/l/_6WnrtUcgvaEo

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

1. STATEMENT-1 : In the given reaction,
NaOH + H3PO, — NaH;PO, + H50 equivalent mass of H3 PO, is
M/3
STATEMENT-2 : H3 PO, is tribasic acid.
A. If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_6WnrtUcgvaEo
https://dl.doubtnut.com/l/_mzr0SKzU3A6P

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: D

o Watch Video Solution

12. STATEMENT-1: In C'rOj oxidation number of Cr is +6.
STATEMENT-2 : CrOj has butterfly structure in which peroxide peroxide

bonds are present.


https://dl.doubtnut.com/l/_mzr0SKzU3A6P
https://dl.doubtnut.com/l/_k5zsVfOnDdCu

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

13. STATEMENT-1 : I, — IO, + 17, is example of a disproportionation
reaction.
STATEMENT-2 : Oxidation number of | can vary from —1to +7.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_k5zsVfOnDdCu
https://dl.doubtnut.com/l/_z7Pi52RaUkrX

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: B

o Watch Video Solution

14. Assertion: Fluorine exists only in —1 oxidation state.
Reason: Fluorine has 2s%2p° configuration.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE


https://dl.doubtnut.com/l/_z7Pi52RaUkrX
https://dl.doubtnut.com/l/_wOeLUj4jKjwF

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: B

o Watch Video Solution

15. STATEMENT-1: H,S0, can not act as reducing agent.

STATEMENT-2 : Sulphur can not increase its oxidation number beyond +- 6.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wOeLUj4jKjwF
https://dl.doubtnut.com/l/_NhI9X68NhpVM

Subjective Problems

1. What volume of a liquid (in L) will contain 10 mole ? If molar mass of
liquid is 280 and its density is 1.4 g/mL.

A.2L

B.4L

C.7L

D.9L

Answer: 2

° Watch Video Solution

2.16 g of SO, gas occupies 5.6 L at 1atm and 273 KWhat will be the value

of x?

° Watch Video Solution



https://dl.doubtnut.com/l/_NhI9X68NhpVM
https://dl.doubtnut.com/l/_PiotPKtt45i6
https://dl.doubtnut.com/l/_BqHrdpDDLSYD

3. 200 mL of 1 HCl, is mixed with 300 mL of 6 M and the final solution is

diluted to 1000 mL.calculate molar concentration of [H+] ion .

o Watch Video Solution

4. N5(g) reacts with Hy(g) in either of the following ways depending
upon supply of Hy(g) :

Na(g) + Ha(g) — NoHa(1)

Na(g) + 2Hz(g) — NoHy(g)

If 5L Ny(g) and 3 L Hy(g) are taken initially (at same temperature and

pressure ), calculate the contraction in valume after the reaction (in L).

o Watch Video Solution

5.0ne commercial system removes SO, emission from smoke at 95( o )C
by the following set of reaction :


https://dl.doubtnut.com/l/_BqHrdpDDLSYD
https://dl.doubtnut.com/l/_9yJPbPGyihc2
https://dl.doubtnut.com/l/_hqusI0Ka7LyQ
https://dl.doubtnut.com/l/_AkeaWUpvAofz

H2504 + CG(OH)2 — CCLSO4 + H2O

How many grams of Ca SO, may be produced from 3.78 g of SO, ?

° Watch Video Solution

6. W is the mass of iron (in g) which will be converted into Fe3O, by the
action of 18 g of steam on it . What is the value of W/7 ?

F6+H20 — F€304+H2

° Watch Video Solution

7. Calculate the total moles of atoms of each element present in 122.5 g of

KCLO;

° Watch Video Solution



https://dl.doubtnut.com/l/_AkeaWUpvAofz
https://dl.doubtnut.com/l/_kodsKm1Rfp1D
https://dl.doubtnut.com/l/_mYjPGv2nb5Ro

8. On dissolving 2.0 g of metal in sulphuric acid 4.51 g of the metal
sulphate was formed . The specific heat of the metal is 0.057 cal

g~ 1.° C 1. What is the valency of metal ?

° Watch Video Solution

9. One gram of a metallic chloride was found to contain 0.835 g of
chlorine. Its vapour density is 85.5.If its moleculars formula is M,Cl,then

what is value of (x+y) ?

° Watch Video Solution

10. 0.7875 g of crystalline barium hydroxide is dissolved in water .For the
neutralization of this solution 20 mL of N/4 HNOQOs is required. How many
moles of water of crystallization are present in one mole of this base ?

(Given : Atomic mass Ba=137,0=16, N=14, H=1)

° Watch Video Solution



https://dl.doubtnut.com/l/_B1y0g3lbyXv8
https://dl.doubtnut.com/l/_FOrt0OnWPuP1
https://dl.doubtnut.com/l/_gq741JMvpyBf

11. 2.0 g of polybasic organic acid (Molecular mass =600) required 100 mL
of a 5 NaOH solution for complete neutralisation. Find the basicity of

acid .

o Watch Video Solution

12. A mixture contains 1.0 mole each of NaOH,Na,CO3; and NaHCQOs.
When half of mixture is titrated with HCl ,it required x mole of HCl in
presence of phenolphthalein. In another experiment half of mixture
required y mole of same HCl in presence of methyl orange. Find the value

of (x+y).

o Watch Video Solution

13. When BrO3— ion reacts with Br~ ion in acidic medium, Bry is
liberated. Calculate the ratio of molecular mass and equivalent mass of

KBT‘O?,

| o WMl L\ dan C Al ikl n


https://dl.doubtnut.com/l/_TICnNACdONm6
https://dl.doubtnut.com/l/_QkJAOq4gooCi
https://dl.doubtnut.com/l/_geTaUrvCtP6A

L —rvvatlil VIUCU JViuLivil )

14. A volume of 12.5 mL of 0.05 M SeO, reacts with 25 mL of 0.1 M CrSO,
which is oxidised to Cr®". To what oxidation state was the selenium

converted by the reaction ?

° Watch Video Solution

15. A 0276 g impure sample of copper ore is dissolved and Cu?" is
titrated with Kl solution. I, liberated required 40 mL of 01 M Nay Sy O;

solution for titration. What is the % of impurities in the ore ?

° Watch Video Solution

16. A sample of 28 mL of Hs O, (aq) solution required 10 mL of 01 M
KMnO, (aq) solution for complete reaction in acidic medium. What is

the valume strength of HyO, ?

° Watch Video Solution



https://dl.doubtnut.com/l/_geTaUrvCtP6A
https://dl.doubtnut.com/l/_ypoSHVCONsbh
https://dl.doubtnut.com/l/_rfQkt94rHT1L
https://dl.doubtnut.com/l/_nNNBkv69z8Ga

. . T
17. For the redox reaction given, what is the value of — ?
z

aNO; + yAsyS; + zH,0 — AsO3~ + NO + SO?” + H™.

° Watch Video Solution

18. On heating 0.220 g of a metallic oxide in presence of hydrogen,0.045 g
of water is formed. If the equivalent mass of the metal is E,then what is

the value of E/9

° Watch Video Solution

19. 10 g mixture of KyCr(2)0O7; and KMnO, was treated with excess of
KI in acidic medium. lodine liberated 100cm® of 22 N sodium
thiosulphate solution for titration. If the mass percent of KMnQO,in the

mixture Z, then what is the value of 2Z/5 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nNNBkv69z8Ga
https://dl.doubtnut.com/l/_bummBGiLaQNg
https://dl.doubtnut.com/l/_WWFsSEkiXI60
https://dl.doubtnut.com/l/_Bm44J5rYT9wD

20. In an ore, the only oxidizable material is Sn?T. This ore is titrated
with a dichromate solution containing 2.5g of K,Cry0; in 0.5litre. A
0.40g sample of the ore required 10.0cm?® of titrant to reach equivalence

point. Calculate the percentage of tin in ore.

o Watch Video Solution

1. Calculate number of neutrons present in 12X10% atoms of oxygen

(80'): (Given: N4 = 6X10%)

A. 1800
B. 1600
C. 1800V,

D. 3200V 4

Answer: C


https://dl.doubtnut.com/l/_HeZZOO2eiEhw
https://dl.doubtnut.com/l/_zXtS1vVgS6Gg

° Watch Video Solution

2. If mass of one atom is 3.32 x 10~ 23g, then calculate number of
nucleons (neutrons and protons) present in 2 atoms of the element:

A. 40

B. 20

C.10

D. 40N,

Answer: A

o Watch Video Solution

3. Calculate number of electron presentin 9.5 g of POif?

A.6

B.5N4


https://dl.doubtnut.com/l/_zXtS1vVgS6Gg
https://dl.doubtnut.com/l/_qHd9xe75cVqG
https://dl.doubtnut.com/l/_tDslKM2LpVYz

C.0.1N,

D.4.7N

Answer: B

o Watch Video Solution

4. What is the number of moles of O-atoms in 126 amu of HNQO3 ?

A.2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tDslKM2LpVYz
https://dl.doubtnut.com/l/_ocOVi6M775D5

5.What is the charge of 96 amu of s~ ?
(a) 2C
(b)32x10" 1 C
()9.6x10~ 17 C
(d) 6C
A.2C
B.3.2 x 10~ %C

C.9.6 x 10" ¢

D.6C

o Watch Video Solution

6. A sample of sodium has a mass of 46g. What is the mass of the same

number of calcium atoms as sodium atoms present in given sample ?

A.46¢g


https://dl.doubtnut.com/l/_1unnYSJGod2m
https://dl.doubtnut.com/l/_8kKlL2kiqgN5

B.20 g

C.40g

D.80g

Answer: D

° Watch Video Solution

7.The total number of neutrons present in 54mLH,O(1) are :

A 3Ny
B.30N4
C.24N4

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8kKlL2kiqgN5
https://dl.doubtnut.com/l/_2S7wVpb0mJVq
https://dl.doubtnut.com/l/_d05OONQiXRhQ

8. Total number of electrons present in 48gMg*™" are:

A 24N,
B. 2N
C.20N,

D. None of these

Answer: C

o Watch Video Solution

9. The number of neutrons in 5g of D,0O (D is %H)

A.0.25N,
B.2.5N
C.1.1N,

D. None of these


https://dl.doubtnut.com/l/_d05OONQiXRhQ
https://dl.doubtnut.com/l/_7vhGXSnRzux7

Answer: B

° Watch Video Solution

10. Cisplatin, an anticancer drug, has the molecular formula
Pt(NHjs),Cly,. What is the mass (in gram) of one molecule ? (Atomic
masses : Pt = 195, H = 14, Cl = 35.5)

A.4.98 x 107

B.1.08 x 10 22

C.6.55 x 10~ 2!

D.3.85 x 10~ 22

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7vhGXSnRzux7
https://dl.doubtnut.com/l/_sO7H2KlUdiCS

11. Aspirin has the formula Cy HgO4. How many atoms of oxygen are there

in a tablet weighing 360mg ?

A.1.204 x 10?3

B.1.08 x 10?2

C.1.204 x 10**

D. 4.81 x 10*

Answer: D

o Watch Video Solution

12. 20g of ideal gas contains only atoms of S and O occupies 5.6L at 1

atm and 273K. what is the molecular mass of gas ?

A. 64

B. 80

C.96


https://dl.doubtnut.com/l/_ZUAd6A1M18Ts
https://dl.doubtnut.com/l/_qM6L5hbtn6HF

D. None of these

Answer: B

° Watch Video Solution

13. A sample of ammonium phosphate ,(NHy),PO, , contains 6 moles of

hydrogen atom, The no. of moles of oxygen atom are:

Al
B.2
C.4

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qM6L5hbtn6HF
https://dl.doubtnut.com/l/_cRiExRCnOMqx

14. Total number of moles of oxygen atoms in 3 litre Os(g) at

27°C and 8.21 atm are:

A3
B.1
C.1

D. None of these

Answer: A

o Watch Video Solution

15.3.011 x 10*? atoms of an element weighs 1.15gm. The atomic mass of

the element is :

A. 10ap
B.2.3au

C. 35.5au


https://dl.doubtnut.com/l/_ujHHrGWahwXO
https://dl.doubtnut.com/l/_SfbqsQcMZeHW

D. 23ap

Answer: D

° Watch Video Solution

16. One atom of an element z weight 6.643 x 10~ 2*2g. Number of moles
of atom in 20 kg is :

A 4

B.40

C.100

D. 500

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SfbqsQcMZeHW
https://dl.doubtnut.com/l/_gcWoopi1zhDE

17. Mass of one atom of the element A is 3.9854 x 10~ 23g. How many

atoms are contained in 1g of the element A ?

A 2.509 x 120%
B. 6.022 x 10
C.12.044 x 10%

D. None of these

Answer: D

o Watch Video Solution

18. Which of the following contains the largest mass of hydrogen atoms?

A.5.0 molesCyH,0,

B.1.1 molesC3HgO5

C.1.5 molesC6H806

D.4.0 molesCyH,0,


https://dl.doubtnut.com/l/_EKEgqI20LTM1
https://dl.doubtnut.com/l/_c6AJVY2ThWGn

Answer: D

° Watch Video Solution

19. Which has minnimum number of oxygen atom ?

A.10 mL H,O(1)
B. 0.1 mole V505(s)
C.12 gm O3(9)

D.12.044 x 10*? molecules of CO,

Answer: C

° Watch Video Solution

20. Rearrange the following (I to IV) in the order of increasing masses :
(1) 0.5 mole of O (I1)0.5gm atom of oxygen

(1) 3.011 x 10%* molecules of O, (IV)5.6 litre of CO, at ST P


https://dl.doubtnut.com/l/_c6AJVY2ThWGn
https://dl.doubtnut.com/l/_eQWqQesCGWXr
https://dl.doubtnut.com/l/_Mc5z9wvvQQLy

All <IV <III <1

B Il <I< IV < III

CIV <II <III <1

D.I< II <III <1V

Answer: A

o Watch Video Solution

21. If the volume of a drop of water is 0.0018mL then the number of

water molecules present in two drop of water at room temperature is :

A.12.046 x 10

B.1.084 x 10'8

C.4.48 x 10"

D. 6.023 x 10%

Answer: A



https://dl.doubtnut.com/l/_Mc5z9wvvQQLy
https://dl.doubtnut.com/l/_IlO35UCsG4BR

| o Watch Video Solution

22. 1t is known that atom contain protons. Neutrons and electrons. If the
mass of neutron is assumed to half of its orginal value where as that of
proton is assumed to be twice of its original value then the atomic mass
of .§* C will be :-

A.same

B. 14.28 % less

C.14.28 % more

D. 28.56 % less

Answer: C

o Watch Video Solution

23. Common salt obtained from sea-water contains 8.775 % NaCl by

mass. The number of formula units of NaCl present in 25¢ of this salt is :


https://dl.doubtnut.com/l/_IlO35UCsG4BR
https://dl.doubtnut.com/l/_NxzSf8tjqkYO
https://dl.doubtnut.com/l/_tQYQILaIv00N

A. 3.367 x 10**formula units

B. 2.258 x 10?*formula units

C.3.176 x 10*formula units

D. 4.73 x 10**formula units

Answer: B

o Watch Video Solution

24. Calculate the number of hydrogen atoms present in 25.6g of sucrose
(C19H55011) which has a molar mass of 342.3g?

A.22 x 10%

B.9.91 x 10%

C.11 x 10%

D. 44 x 10%

Answer: B



https://dl.doubtnut.com/l/_tQYQILaIv00N
https://dl.doubtnut.com/l/_YKVy4EZYdY50

| ° Watch Video Solution

25. Caffeine has a molecular mass of 194. If it contains 28.9 % by mass of
nitrogen, Calculate number of atoms of nitrogen in one molecule of
caffeine ?

A 4

B.6

C.2

D.3

Answer: A

° Watch Video Solution

26. The density of water is 1g/mL. Water is the volume occupied by 1

molecule of water ?


https://dl.doubtnut.com/l/_YKVy4EZYdY50
https://dl.doubtnut.com/l/_uGoRU2ZyCtqE
https://dl.doubtnut.com/l/_EQiVWsIUWEOY

A.1.44 x 10" BmL

B.1mL

C.18mL

D.2.88 x 10~ BmL

Answer: D

o Watch Video Solution

27. A 25.0mm x 40.0mm piece of gold foil is 0.25mm thick. The density
of gold is 19.32%7713. How many gold atoms are in the sheet ? (Atomic
weight : Au = 197.0)

A 7.7 x 10%

B.1.5 x 10?3

C.4.3 x 10%

D. 1.47 x 10%2


https://dl.doubtnut.com/l/_EQiVWsIUWEOY
https://dl.doubtnut.com/l/_gcJEXAKTftJG

Answer: D

° Watch Video Solution

28. If average molecular mass of air is 29, then assuming N, and O, gases

are there, which option are correct regarding composition of are?
(i)
75 % by mass of Ny (44)75 % by moles N

A. only (i) is are correct

B. Only (ii) is correct

C. both (ii) and (iii) are correct

D. both (i) and (ii) are correct

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gcJEXAKTftJG
https://dl.doubtnut.com/l/_gZQBzTOQZvX0

29. Density of dry air containing ony N, and O, is 1.15% at 740mm of
Hg and 300K.What is % composition of Ny by mass in the air ?

A. 78 %

B.85.5 %

C.70.02 %

D.62.75 %

Answer: C

o Watch Video Solution

30. A gaseous mixture of Hy and CO, gas contains 66 mass % of CO, .

What is the vapour density of the mixture ?

A.6.1

B.5.4

C.2.7


https://dl.doubtnut.com/l/_5thNjREbvvxL
https://dl.doubtnut.com/l/_llPEj0pgI38N

D.10.8

Answer: C

° Watch Video Solution

31. A mixture contains N,O, and NO, in the ratio 2:1 by volume.

Calculate the vapour density of the mixture?

A 0.1

B.0.2

C.0.5

D. 38.33

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_llPEj0pgI38N
https://dl.doubtnut.com/l/_cLlmSGh49ZcI

32. Density of ideal gas at 2 atm and 600K is 2g/L. Calculate relative

density of this with respect to Ne(g) under similar conditions : (given :

R = . t L l. K)
= gy atm—ol.

A 25
B.2
C.3

D.5

Answer: A

o Watch Video Solution

33. Average atomic mass of magnesium is 24.31 amu. This magnesium is
composed of 79 mole % of .>* Mg and remaining 21 mol % of .2> Mg

and .2® Myg. Calculate mole % of .26 My.

A.10


https://dl.doubtnut.com/l/_VkAsUd7itzgV
https://dl.doubtnut.com/l/_unE0dRgUyelG

B. 1

D.16

Answer: A

o Watch Video Solution

34.Indium (atomic mass = 114.82) has two naturally occurring isotopes,
the predominant one from has isotopic mass 114.9041 and abundance of
95.72 % . Which of the following isotopic mass is the most likely for the
other isotope ?

A. 11294

B.115.9

C.113.9

D.114.9


https://dl.doubtnut.com/l/_unE0dRgUyelG
https://dl.doubtnut.com/l/_nDZdlQRH2jhV

Answer: A

° Watch Video Solution

35. Calculate density of a gaseous mixture which consist of 3.01 x 10%*
molecules of N, and 329 of O, gas at 3 atm pressure and 860K
1
temperature (Given : R = 5] atmL 1. K1
A.0.6g/L
B.1.2g/L

C.0.3g/L

D.12g/L

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nDZdlQRH2jhV
https://dl.doubtnut.com/l/_3teN0MD3k1iL

36. A mixture of Oy and gas Y (mol. wt. 80) in the mole ratio a: b has a
mean molecular weight 40. What would be mean molecular weight, if the
gases are mixed in the ratio b: @ under identical conditions ? ( gases are )

A. 40

B.48

C. 62

D.72

Answer: D

o Watch Video Solution

37.If water sample are taken from sea, rivers or lake, they will be found to
contain hydrogen and oxygen in the approximate ratio of 1:8. This

indicates the law of :

A. law of conseravtion of mass


https://dl.doubtnut.com/l/_RlNchiUmpKGL
https://dl.doubtnut.com/l/_BxJozm8TKwj8

B. Definite proporation

C. Reciprocal propoertions

D. None of these

Answer: B

° Watch Video Solution

38. Hydrogen and oxygen combine to from Hy0Oy and H50O containing
5.93 % and 11.2 % hydrogen respectively . The data illustrates :

A. law of conseravtion of mass

B. law of constant proportion

C.law of reciparocal proporation

D. law of multiple proporetion

Answer: 4

° Watch Video Solution



https://dl.doubtnut.com/l/_BxJozm8TKwj8
https://dl.doubtnut.com/l/_2OsmUUZDBBel

39. Which one the following combinations illustrate law of reciprocal

proportions ?

A. NyO3, N,Oy4, N2Os

B. NaCl, NaBr, Nal

C.CS,, CO,, SO,

D. PH;, P,Os, P05

Answer: 3

o Watch Video Solution

40. Carbon and oxygen combine to form two oxides, carbon monoxide
and carbon dioxide in which the ratio of the weight of carbon and oxygen
is respectively 12: 16 and 12: 32. These figures illustrate the :

(a)law of multiple proportions

(b)law of reciprocal proportions


https://dl.doubtnut.com/l/_2OsmUUZDBBel
https://dl.doubtnut.com/l/_cjYORaeT78nK
https://dl.doubtnut.com/l/_iXjWjqOWMeMU

(c)law of conservation of mass

(d)law of constant proportions

A. law of multiple proportions

B. law of reciprocal proportions

C. law of conservation of mass

D. law of constant proportains

Answer: A

o Watch Video Solution

41. A sample of calcuium carbonate (CaCOs) has the following
percentage composition: Ca =40% ,C =12%,0 = 48 % If the law
of constant proportions is true. Then the weight of calcium in 4g of a

sample of calcium carbonate obtained from another source will be

A.0.016g

B.0.16¢g


https://dl.doubtnut.com/l/_iXjWjqOWMeMU
https://dl.doubtnut.com/l/_oOBzN2wsqgc2

C.1.6g

D. 169

Answer: C

° Watch Video Solution

42.The law of multiple proportion is illustrated by the two compounds :

A. Sodium chlordie and sodium bromide

B. Ordinary water and heavy water

C. Caustic soda caustic potash

D. Sulphur dioxide and sulphur trixoide

Answer: 4

° Watch Video Solution



https://dl.doubtnut.com/l/_oOBzN2wsqgc2
https://dl.doubtnut.com/l/_xjSdoSFl6Gys

43. All the substance listed below are fertilizers that contribute nitrogen
to the soil. Which of these is the richest source of nitrogen on a mass
percentage basis ?

A.Urea (NH,),CO

B. Ammonium nitrate ,NH,;NO;

C. Nitric oxide , NO

D. Ammonia, NHjy

Answer: D

o Watch Video Solution

44, One mole of element X has 0.444 times the mass of one mole of
element Y. One atom of element X has 2.96 x the mass of one atom of

12 C' . What is the atomic mass of Y ?

A. 80


https://dl.doubtnut.com/l/_bmGVXIkTbQTt
https://dl.doubtnut.com/l/_D1mLndrgstYr

B.15.77

C.46.67

D. 40

Answer: A

° Watch Video Solution

45, A given sample of pure compound contains 9.81g of zn, 1.8 x 10?3
atoms of chromium, and 0.60 mol of oxygen atoms. What is the simplest
formula?

A. ZnCry0O;

B. ZnCry0y

C. ZnCrOy

D. ZnCrQOg

Answer: B

[ - 1


https://dl.doubtnut.com/l/_D1mLndrgstYr
https://dl.doubtnut.com/l/_hPDtQ7AcjH25

| @J Watch Video Solution J

46. The formula of an acid is HXO,. The mass of 0.0242 g of the acid is

1.657g. What is the atomic mass of X ?

A.355

B. 28.1

C.128

D.19

Answer: A

° Watch Video Solution

47. What is the emprical formula of vanadium oxide , if 2.74g of the metal

oxide contains 1.53g of metal ?

A. V5,05


https://dl.doubtnut.com/l/_hPDtQ7AcjH25
https://dl.doubtnut.com/l/_sL9kehnET5ls
https://dl.doubtnut.com/l/_PFba6tdNB1gY

B.VO

C. V5,05

D. V5,0,

Answer: C

° Watch Video Solution

48. Determine the empirical fromula of kelvar, used in making bullet proof

vests, is 70.6 % C, 4.2 % H,11.8% N and 13.4 % O:

A.C;H;NO,

B. C; Hy N,O

C. C;HyNO

D. C, H; NO

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PFba6tdNB1gY
https://dl.doubtnut.com/l/_iYncfsZSxp4H

49. The hydrated salt Na;CO;3. £ H50 undergoes 63 % loss in mass on

heating and becomes anhydrous . The value x is :

A.10

B.12

C.8

D. 18

Answer: A

o Watch Video Solution

50. A 6.85g sample of the hydratedSr(OH),. H5O is dried in an oven to
given 3.13g of anhydrous sr(OH),. What is the value of 2?7 (Atomic

masses : St = 87.60. O = 16.0, H = 1.0)

A 8


https://dl.doubtnut.com/l/_iYncfsZSxp4H
https://dl.doubtnut.com/l/_1XiEfJR13a5P
https://dl.doubtnut.com/l/_EhBfh2dITE8Z

B.12

D.6

Answer: A

° Watch Video Solution

51. What percentage of oxygen is
CA003.30G3(P04)2?

A.23.3%

B. 45.36 %

C.41.94 %

D.17.08 %

present

in the compound

° Watch Video Solution



https://dl.doubtnut.com/l/_EhBfh2dITE8Z
https://dl.doubtnut.com/l/_JnnhGkttJpxj

52. Deildrin, an insecticide, contains C, H, Cl and O. Combustion of
29.72mg of dieldrin gave 41.21mgCQO, and 5.63mg of H,O . In a
separate analysis 25.31mg of dieldein was converted into 57.13mg Ag Cl.
What is the empirical formula of diedrin ?

A.CsH,Cl30

B. CsHgClO

C.C12HgClgO

D. C¢H,Cl30,

Answer: C

o Watch Video Solution

53. A gaseous compound is composed of 85.7% by mass carbon and
14.3 % by mass hydrogen. Its density is 2.28 g/litre at 300K and 1.0 atm

pressure. Determine the molecular formula of the compound.


https://dl.doubtnut.com/l/_657Y2Qw2Nded
https://dl.doubtnut.com/l/_EQ2jHEDex6Wk

A 02H2

B. 02H4

C.C,Hg

D. C4H10

Answer: C

o Watch Video Solution

54. Complete combustion of 0.858 g of compound X gives 2.63 g of CO,

and 1.28 g of H,0. The lowest molecular mass X can have

A.43 g

B.86g

C.129g

D.172 g

Answer: A



https://dl.doubtnut.com/l/_EQ2jHEDex6Wk
https://dl.doubtnut.com/l/_NeEfwywR6iMc

| ° Watch Video Solution

55. The sulphate of a metal M contains 9.87 % of M, This sulphate is

isomorphous with ZnS0,.7H,0. What is the atomic weight of M ?

A.403

B.36.3

C.243

D.11.3

Answer: C

° Watch Video Solution

56. In an organic compound of molar mass 108gmmol 'C, H and N

atoms are presents in 9: 1: 3.5 by mass. Molecular can be

A C6H8N2


https://dl.doubtnut.com/l/_NeEfwywR6iMc
https://dl.doubtnut.com/l/_bSWh4Yw7ZQS1
https://dl.doubtnut.com/l/_WSFQudukFGDc

B. C7H10N

C.CsHgNy

D. C4H18N3

Answer: A

° Watch Video Solution

57.0n analysis, a certain compound was found to contain 254g of iodine

(at.mass 127) and 80g oxygen (at.mass 16). What is the formula of the
compound ?

A.10

B. I,O

C. .[503

D. 05

Answer: D

[ - 1


https://dl.doubtnut.com/l/_WSFQudukFGDc
https://dl.doubtnut.com/l/_Pt5sRxAkSQtg

| @J Watch Video Solution J

58. An element A is teravalent and another element B is divalent. The

formula of the compound formed from these elements will be :

A A,B

B. AB

C.AB,

D. AQB3

Answer: C

o Watch Video Solution

59. A compound used in making nylon, contains 43.8 % oxygen. There are
four oxygen atoms per molecule. What is the molecular mass of

compound ?


https://dl.doubtnut.com/l/_Pt5sRxAkSQtg
https://dl.doubtnut.com/l/_kwVcHr9TLWqs
https://dl.doubtnut.com/l/_q4VhK60eqJYl

A. 36

B. 116

C. 292

D. 146

Answer: D

o Watch Video Solution

60. Suppose two elements X and Y combine to form two compounds
XY,5 and X,Y3 when 0.05 mole of XY, weight 5g while 3.011 x 10%
molecules of X,Y; weight 85g. The atomic masses of X and Y are
respectively.

A. 23,30

B.30,40

C.40,30

D. 80,60


https://dl.doubtnut.com/l/_q4VhK60eqJYl
https://dl.doubtnut.com/l/_WAmYLKRcUy9e

Answer: C

° Watch Video Solution

61. 44g of a sample CH & O on complete combustion given
88gC O, and 36g of H,O. The molecular formula of the compound may
be:

A.CyH,

B. CoHgO

C.CyH 0

D. C3HgO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WAmYLKRcUy9e
https://dl.doubtnut.com/l/_iSV6nfJQxzH5

62. 40 miligram diatomic volatile substance (X3) is converted to vapour

that displaced 4.92m L of air at 1atm and 300k. Atomic mass of element X
is nearly :

A. 400

B. 240

C. 200

D. 100

Answer: D

o Watch Video Solution

63. Two elemets X( atomic weight = 75) and Y'( atomic weight = 16)

combine to give a compound having 75.8 % X." The formula of the

compound is

A XY


https://dl.doubtnut.com/l/_hZe6ZCeOSxwS
https://dl.doubtnut.com/l/_vg2AnqyjcF8P

B. X,V

C. X,Y,

D. X, Y5

Answer: D

° Watch Video Solution

64. A sample of phosphorus that weighs 12.4g exerts a pressure 8 atm in
a 0.821 litre closed vesel at 527°C. The molecular formula of the
phosphorus vapour is :

A P

B. Py

C. P

D. P

Answer: B

[ - 1


https://dl.doubtnut.com/l/_vg2AnqyjcF8P
https://dl.doubtnut.com/l/_OWOn41F6MiGN

| @J Watch Video Solution J

65. Manganese forms non-stoichiometric oxides having the gereral
formula formula MnO,. The value of z for the compound that analyzed
64 % by mass mn :

A.1.16

B.1.83

C.2

D.1.93

Answer: D

o Watch Video Solution

66. 1.44 gram if titanium (7") reacted with excess of Oy and produce z

gram of non — stoichiometric compound T'%; 440. The value of z is :


https://dl.doubtnut.com/l/_OWOn41F6MiGN
https://dl.doubtnut.com/l/_pF19Yb9sOqXT
https://dl.doubtnut.com/l/_Kwog8NHgdmF2

A2

B.1.77

C.1.44

D. None of these

Answer: C

o Watch Video Solution

67. Which statement is false for the balanced equation givem below ?

CSz + 302 — 2502 + 002

A. One mole of C'S, will produce one mole of CO,

B. The reaction of 16 g of oxygen produces 7.33gof CO,

C. The raction of one mole of O, will produce 2/3 "mole of" SO,

D. Six molecules of oxygen requires theree molecular of C'S,

Answer: D



https://dl.doubtnut.com/l/_Kwog8NHgdmF2
https://dl.doubtnut.com/l/_k6uLUjcTDiPQ

| o Watch Video Solution

68. Which of the following setups is correct to calculate the mass (in g) of

KCIOj3 produced from the reacting of 0.150 moles of CI, ?

0.150 moles Cly x Imole  KClO3 /3molesCly x 122.5g/1

0.150  moles Cly x 1mole KClO3 /3molesCl, x 1mole

0.150 moles Cly x 3moles Cly/1 mole KCLO3; x 122.5g/1m

0.150 moles Cly x 3moles Cly/1 mole KCLO3 x 1lmole K

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k6uLUjcTDiPQ
https://dl.doubtnut.com/l/_GLHgidvCgZdF
https://dl.doubtnut.com/l/_WzA6alsDdRXJ

69. 2.0 g of a sample contains mixture of Si05 and Fe5O3. On very strong
heating , it leaves a residue weighing 1.96g. The reaction responsible for
loss of mass is given below .
Fey03(8) — Fe304(8) + O2(g), (unbalance equation) . What is the
percentage by mass of Si0, in original sample ?

A.10 %

B.20 %

C.40 %

D. 60 %

Answer: C

o Watch Video Solution

70. What volume of air at 1 atm and 273K containing 21 % of oxygen by

volume is required to completely burn sulphur (Sg) present in 200g of


https://dl.doubtnut.com/l/_WzA6alsDdRXJ
https://dl.doubtnut.com/l/_Ru4TZp1UhpO8

sample , which contains 20 % inert material which does not burn.
1
Sulphur burns according to the reaction gSg(s) + O2(9) — SO-(9)
A. 23.52 litre
B. 320 litre
C. 112 litre

D. 533.33 litre

Answer: D

o Watch Video Solution

71. For the reaction, 2Fe(NO3) + 3NayCO — Fey(COs)4 + 6NaNO;
initially 2.5 mole of F'e(NOs), and 3.6 mole of NayCOs are taken. If 6.3
mole of NaNQj is obtained then % yield of given reaction is :

A.50

B. 84

C.875


https://dl.doubtnut.com/l/_Ru4TZp1UhpO8
https://dl.doubtnut.com/l/_a5uwIBEG8Sic

D.100

Answer: C

° Watch Video Solution

72. How many of Pscan be producedby reaction of 0.10 moles
Ca5(POy),F, 0.36 moles SiO; and 0.90 moles C according to the
following reaction ?
4Ca5(POy),F + 185i05 + 30C — 3P, + 2CaF, 4 18CaSiO;3 + 30CO
A.0.060
B.0.030

C.0.045

D.0.075

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a5uwIBEG8Sic
https://dl.doubtnut.com/l/_hWuujBAnNc7o

73. Some older emergency oxygen masks contains potassium superoxide
KO, which reacts with CO, and water present in exhaled air to produce
oxygen according to the given equation. If a person exhales 0.667g of
CO5 per minute, how many gram of KO, are consumed in 5.0 minutes ?
A.10.7
B. 0.0757

C.1.07

D.5.38

Answer: D

o Watch Video Solution

74.The mass of Ny F produced by the reaction of 2.0g of NH3 and 8.0g

of F; is 3.56g. What is the per cent yield ?

A.79


https://dl.doubtnut.com/l/_5me1gvRdxk79
https://dl.doubtnut.com/l/_utgAkraUKpeu

B.71.2

C.84.6

D. None of these

° Watch Video Solution

75. Calculate the weight of lime (CaQ) obtained by heating 200 kg of

95 % pure lime stone (CaCOs;).

A. 104.4kg

B. 105.4kg

C.212.8kg

D. 106.4kg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_utgAkraUKpeu
https://dl.doubtnut.com/l/_YIxM80Uh3tsE

76. Phospheric acid (H3PO,) perpared in two step process .
(1) P4 + 502 — P4010 (2)P4010 + 6H20 — 4H3PO4
Well allow 62 g of phosphrous to react with exces oxygen which from
P,Oqp in 85 % vyield . In the sep (2) reaction 90 % yield of H3 PO, is
obtained . Mass of H3 PO, produced is :

A. 37.485¢g

B. 149. 949¢

C.125. 47g

D. 564.48¢g

Answer: B

o Watch Video Solution

77.9 moles of "D" and 14 moles of E are allowed to react in a closed vessel
according to given reactions. Calculate number of moles of B formed in

the end of reaction, if 4 moles of G are present in reaction vessel.


https://dl.doubtnut.com/l/_Q6SVlMn9rx5o
https://dl.doubtnut.com/l/_rPIK3CKv4O68

(percentage yield of reaction is mentioned in the reaction) Step -1

3D + 4E80 % — 5C + A Step-23C + 5G50% — 6B + F

A.24

B. 30

C.4.8

D.1

Answer: A

o Watch Video Solution

78. The chief are of Zn is the sulphide , ZnS. The Ore is concentrated by

froth floation process and then heated in air to convert Zns to Zno.
80 %
100 %
Zn0O + H3 SOy —— ZnSO4 + H
80 %

The number of moles of ZnS required for producing 2 moles of Zn will be:


https://dl.doubtnut.com/l/_rPIK3CKv4O68
https://dl.doubtnut.com/l/_h4eR5C0A98Pt

A. 3.125

B.2

C.2.125

D.4

Answer: A

o Watch Video Solution

79. 0.8 moles of a mixture of CO and CO, requieds exactly 40 gram of
NaOH in solution for complete conversion of all the CO, into NayCOs.
How many more of NaOH would for require for conversion into
Nay,COs if the mixture (0.8 mole) is completely oxidised to CO, ?

A.0.2

B.0.6

C.1

D.1.5


https://dl.doubtnut.com/l/_h4eR5C0A98Pt
https://dl.doubtnut.com/l/_CEHRteL9sZfF

Answer: B

° Watch Video Solution

80. Silver oxide (Ag,0) decomposes at temperature 300°C' yielding
matellic silver and oxygen gas. A 1.60g sample of impure silver oxide
yields 0.104g of oxygen gas. What is the per cent by mass of the silver
oxide in the sample ?

A.5.9

B.47.125

C.94.25

D. 88.2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CEHRteL9sZfF
https://dl.doubtnut.com/l/_hB1Ad11GYyaS

81.342 g of 20% by mass of ba(OH), solution (sq.gr.0.57) is reacted with
1200mL of 2MHNOs . If the final density of solution is same as pure
water then molarity of the ion in resulting solution which decides the
nature of the above solution is :

A.0.25

B.0.5M

C.0.888M

D. None of these

Answer: C

o Watch Video Solution

82.100mL of H5SO, solution having molarity 1M and density 1.5g /mL
is mixed with 400m L of water. Calculate final molarity of H, SO, solution,

if final density is 1.25g /mL?


https://dl.doubtnut.com/l/_ePgociPplF8W
https://dl.doubtnut.com/l/_8IyrShnFHobY

A 4.4M

B.0.145M

C.0.52M

D.0.227TM

Answer: D

o Watch Video Solution

83. What volume of HCT solution of density 1.2%7713 and containing
36.5 % by mass HCI, must be allowed to react wtih zinc (Zn) in order
to liberate 4.0g of hydrogen ?

A. 333.33mL

B. 500m.L

C.614.66mL

D. None of these


https://dl.doubtnut.com/l/_8IyrShnFHobY
https://dl.doubtnut.com/l/_Y7A8WZvBFPGE

o Watch Video Solution

84. An ideal gaseous mixture of ethane (CyHg) and ethene (CyHy)
occupies 28 litre at latm 0°C. The mixture reacts completely with
128gm O, to produce CO5 and H,0. Mole of fraction at CyHy in the
mixtture is-

A.0.6

B.0.4

C.0.5

D.0.8

Answer: B

o Watch Video Solution

85. Wood's metal contains 50.0 % bismuth, 25.0 % lead, 12.5 % tin and

12.5 % cadmium by mass. What is the mole fraction of tin ?(\ (Atomic


https://dl.doubtnut.com/l/_Y7A8WZvBFPGE
https://dl.doubtnut.com/l/_SBKVQAZquJPv
https://dl.doubtnut.com/l/_6FClYyvwUlHn

mass : Bi = 209, Pb = 207, Sn = 119, Cd = 112)

A.0.202
B. 0.158
C.0.176

D.0.221

Answer: C

o Watch Video Solution

86. The density of a 56.0 % by mass aqueous solution of 1-propanol
(CH3CH,CH,0OH) is 0.8975%7713. What is the mole fraction of the 1-
propanol ?

A.0.292

B. 0227

C.0.241


https://dl.doubtnut.com/l/_6FClYyvwUlHn
https://dl.doubtnut.com/l/_fvaUiN3muJKg

D.0.276

Answer: D

° Watch Video Solution

87. What is the molartiy of SOZ_ ion in aqueous solution that contain
34.2p + of AIZ(SO4)3? (Assume complete dissociation and density of
solution 1£L)
m
A3x1074M
B.2 x 10*

C.107*M

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fvaUiN3muJKg
https://dl.doubtnut.com/l/_9mm7pIqB755L
https://dl.doubtnut.com/l/_GXHRBimAM9QV

88. The relation between molarity (M) and molality (m) is given by :

(p=density of solution (g/mL), M;= molecular mass of solute)

1000M
1000p — My

1000pM
1000p — MM,

1000M M
1000p — MM,

1000M
1000p — MM,

Answer: D

o Watch Video Solution

89. Molarity and molality of a solution of an liquid (mol.mass = 50) in
aqueous solution is 9 and 10 respectively. what is the density of solution ?
A.1lg/cc
B.0.95¢g/cc

C.1.05g/cc


https://dl.doubtnut.com/l/_GXHRBimAM9QV
https://dl.doubtnut.com/l/_1KudRxEOqGWA

D. 1.35¢g/cc

Answer: D

° Watch Video Solution

90. An aqueous solution of ethanol has density 1.025g/mL and it is 2 M.
What is the molality of this solution ?

A 1.79

B.2.143

C.1.951

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1KudRxEOqGWA
https://dl.doubtnut.com/l/_SvdWn3MISjqh

91. 0.2 mole of HCI and 0.2 mole of barium chloride were dissolved in

water to produce a 500m L solution. The molarity of the CI ~ ions is :

A.0.06 M

B.0.09M

C.1.2M

D. 0.80M

Answer: C

o Watch Video Solution

92. Calculate the mass of anhydrous HC'I in 10mL of concentrated HCT
(density = 1.2%L) solution having 37 % HC1I by mass.

A.4.44g

B.4.44mg

C.4.44 x 103


https://dl.doubtnut.com/l/_Lg0EIAV9wk6J
https://dl.doubtnut.com/l/_34vlHk4xwiJ2

D.0.444ug

Answer: A

° Watch Video Solution

93. Calculate the molality of 1L solution of 80 % H3SO, (%) given that

the density of the solution is 1.80gm.L ~'.
A.8.16
B.8.6
C.1.02

D.10.8

o Watch Video Solution



https://dl.doubtnut.com/l/_34vlHk4xwiJ2
https://dl.doubtnut.com/l/_VuvZkoI9BBzG

94. Fluoxymesterone , Cy0Hy9F'Os, is an anabolic steroid . A 500 ml
solution is prepared by dissolving 10.0 mg of the steroid in water. 10.0 mL
portion of this solution is diluted to final volume of 1.00 L. What is the
resulting molarity ?

A.1.19 x 10~ 1°

B.1.19 x 107

C.5.95 x 1078

D.2.38 x 10~ 1

Answer: C

o Watch Video Solution

95. The 25 mL of a 0.15 M solution of lead nitrate, Pb(/NOs),, react with all
of the aluminium sulphate , Al3(SOy), , present in 20 mL of a solution .

What is the molar concentration of the Al;(SO,)4 ?


https://dl.doubtnut.com/l/_bjLiveYBTAXj
https://dl.doubtnut.com/l/_MzcMSVSeKhrR

A.6.25 x 10 2 M

B.2.421 x 10 *M

C.0.1875M

D. None of these

Answer: A

o Watch Video Solution

96. Concentrated HNOj is 63 % HNOj3 by mass and has a density of
1.4g/mL. How many millilitres of this solution are required to prepare
250mL of a 1.20M HNOs solution ?

A.18.0

B. 21.42

C.20.0

D.14.21


https://dl.doubtnut.com/l/_MzcMSVSeKhrR
https://dl.doubtnut.com/l/_N3qOblJcQ4I9

o Watch Video Solution

97. 50mLof20.8% (w/V) Ba Cl 2 and (aq) and 100mLof9.8%mL(w/V)
H 2SO _4(aq)solutionsaremized. MolarityofCI*- iron in the resulting
solution is : (At mass of Ba = 137)

A. 0.333M

B. 0.666M

C.01M

D.133M

Answer: B

o Watch Video Solution

98. What volume of 0.10 M H,50, must be added to 50 mL of a 0.10
NaOH solution to make a solution in which molarity of the HySOy is

0.050Mm?


https://dl.doubtnut.com/l/_N3qOblJcQ4I9
https://dl.doubtnut.com/l/_UtHNppqa8I07
https://dl.doubtnut.com/l/_bFrVvOGSrKnX

A.400mL

B.200mL

C.100mL

D. none of these

Answer: C

o Watch Video Solution

99. 1M HC! and 2M HCI are mixed in volume ratio 4:1. What is the final

molarity of HCl solution?

A 15

B.1

C.1.2

D.18

Answer: C



https://dl.doubtnut.com/l/_bFrVvOGSrKnX
https://dl.doubtnut.com/l/_amngfVyUHxfA

| o Watch Video Solution

100. Three solutions X,Y,Z of HCl are mixed to produce 100mL of 0.IM

solution . The molarities of X,Y and Z are 0.07M, 0.12M and 0.15M

respectively. What respective volumes of X,Y and Z should be mixed?

A.50mL, 25mL, 25mL

B.20mL, 60mL, 20mL

C.40mL, 30mL, 30mL

D.55mL, 20mL, 25mL

Answer: D

o Watch Video Solution

101. A bottle of an aqueous H50, solution is labelled as '28V' H,O, and

the density of the solution (ing /mL) is 1.25. Choose the correct option.


https://dl.doubtnut.com/l/_amngfVyUHxfA
https://dl.doubtnut.com/l/_RQJMuHaOoVGt
https://dl.doubtnut.com/l/_PGrzNXOJ7kZH

A. Molarity of HyOssolution is2

B. Molarity of H,Oysolution isb

C. Molarity of H,Ossolution is2.15

D. none of these

Answer: C

o Watch Video Solution

102. The impure 6g of NaCl is dissolved in water and then treated with
excess of silver nitrate solution. The mass of precipitate of silver chloride
is found to be 14g. The % purity of NaCl solution would be:

A.0.95

B. 0.85

C.0.75

D. 0.65


https://dl.doubtnut.com/l/_PGrzNXOJ7kZH
https://dl.doubtnut.com/l/_qJv5LSm4CHzG

Answer: A

° Watch Video Solution

103. Al(SO)4)3 solution of 1 molal concentration is present in 1 litre
solution of density 2.684 g/cc. How many moles BaSO,; would be
precipated on adding excess BaCly in it?

A.2 moles

B. 3 moles

C.6 moles

D. 12 moles

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qJv5LSm4CHzG
https://dl.doubtnut.com/l/_EYe701aC4GTS

104. A certain public water supply contains 0.10ppb (part per billion) of
chloroform (CHC!3). How many molecules of CHCI3 would be obtained
in 0.478mL drop of this water? (Assuming d=1g//Ml)

A4 x 1071 x Ny

B.10 % x Ny

C.4x107 19 x Ny

D. none of these

Answer: A

o Watch Video Solution

105. Decreasing order (first having highest and then other following it) of
mass of pure NaOH in each of the aqueous solution

(P) 50 gm of 40 % (w /w) NaOH

(Q) 50 gm of 50 % (w /v) NaOH [dgo. = 1.2gm /ml]

(R) 50 gm of 20 M NaOH [dyy,. = 1gm /ml]


https://dl.doubtnut.com/l/_U3B0RMoR86TJ
https://dl.doubtnut.com/l/_FVIR5eYBMceI

B. iii,ii,i

C. i,

Answer: B

o Watch Video Solution

106. What is the molar mass if diacidic organic Lewis base (B), if 12g of its

chloroplatinate salt (BH,PtClg) on ignition produced 5g residue of Pt?

A.52
B. 58
C. 88

D. none of these

Answer: B



https://dl.doubtnut.com/l/_FVIR5eYBMceI
https://dl.doubtnut.com/l/_PnNP6S1GSAYh

| o Watch Video Solution

107. On strong heating, one gram of the silver salt of an organic dibasic
acid yields 0.5934g of silver. If the mass percentage of carbon in it 8 times
the mass percentage of hydrogen and one-half the mass percentage of
oxygen, determine the molecular formula of the acid.

A.C,HgOy

B. C4HgOg

C.C4HgO,

D. C5H;,Os

Answer: B

o Watch Video Solution

108. 0.607g of silver salt of tribasic organic acid was quantitatively

reduced to 0.37g of pure Ag. What is the mol. Wt. of the acid ?


https://dl.doubtnut.com/l/_PnNP6S1GSAYh
https://dl.doubtnut.com/l/_ZpdP9S209SIe
https://dl.doubtnut.com/l/_kFkGb97GasYU

A. 207

B. 210

C. 531

D.324

Answer: B

o Watch Video Solution

109. A sample of peanut oil weighing 2g is added to 25mL of
0.40M KOH. After saponification is complete, 8.5mL of 0.28M H,S0y is
needed to nuetralize excess of KOH. The saponification number of
peanut oil is : (saponification number is defined as the milligrams of

KOH consumed by 1g of oil)

A.146.72
B.223.44

C.9844


https://dl.doubtnut.com/l/_kFkGb97GasYU
https://dl.doubtnut.com/l/_4c5yuoaYGCBz

D.98.9

Answer: A

o Watch Video Solution

110. 20m L of a mixture of CO and H, were mixed excess of O, and
exploded & cooled. There was a volume contraction of 23mL. All volume
measurements corresponds to room temperature (27°C) and one
atmospheric pressure. Determine the volume ratio (V;: V50fCo anf H, in
the original mixture .

A.6.5:13.5

B.5:15

C.2:3

D.7:13

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_4c5yuoaYGCBz
https://dl.doubtnut.com/l/_npLLy5GbHz1V

111 In the reaction 241(s) + 6HCl(aq) — 2AP" + 6Cl~ (aq) + 3H,

A.6LHC!(aq) is consumed for every 3LH5(g) produced
B.33.6L Hy(g) is produced regardless of temperature and pressure

for every mole Al that reacts

67.2LHyatlatm and 273Kis produced for every mole Al that reacts
D.11.2L Hs(g) at 1 atm and 273K is produced for every mole HCl(aq)

consumed

Answer: D

° Watch Video Solution

12. A gaseous mixture of propane and butane of volume 3 litre on

complete combustion produces


https://dl.doubtnut.com/l/_npLLy5GbHz1V
https://dl.doubtnut.com/l/_5SzNKEPRXsAN
https://dl.doubtnut.com/l/_hmOsa3mzouNH

11.0 litre C'O4 under standard conditions of temperature and pressure.

The ration of volume of butane to propane is:

A 1:2

B.2:1

C.3:2

D.3:1

Answer: B

o Watch Video Solution

113. Phosphorous has the oxidation state of +1in:

A. (a)Orthophosphoric acid

B. (b)Phosphorous acid

C. (C)Hypophosphoric acid

D. (d)Metaphosphoric acid


https://dl.doubtnut.com/l/_hmOsa3mzouNH
https://dl.doubtnut.com/l/_n5reKvWwJwJH

Answer: C

° Watch Video Solution

114. Oxidation numbers of two Cl atoms in belaching powder, CaOCl,,

are

A. +lonly

B. — lonly

C.+1land —1

D. none of these

Answer: C

° Watch Video Solution

115. The oxidation number of sulphur in Sg, SoF5, HyS and H5SO0,

respectively are:


https://dl.doubtnut.com/l/_n5reKvWwJwJH
https://dl.doubtnut.com/l/_wA9brsetEpqS
https://dl.doubtnut.com/l/_8YH7wcvTft8f

A0, +1, —2 and 6

B.4+2,0, +2 and 6

C.0,+1, +2and6

D.—2,0, +2 and 6

Answer: A

° Watch Video Solution

116. Fe show on oxidation state of +1 in:

A Fe(CO),
B. [Fe(H,0);NO| S50,
C. Fey[Fe(CN)g] 3

D. F€4Cl4_

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8YH7wcvTft8f
https://dl.doubtnut.com/l/_bfbLfZ9Ryq5J

117. When SO, is passed inoto an acidified potassium dichromate soltion,

the oxidation number of sulphur and chromium in the final products

respectively are:

A.+6, +6

B.+6, +3

C.+0, +3

D.+2, +3

Answer: B

o Watch Video Solution

118. The oxidation number of nitrogen atoms in NH,;NOj are:

A+3, +3

B.+3, —3


https://dl.doubtnut.com/l/_bfbLfZ9Ryq5J
https://dl.doubtnut.com/l/_ASFH4Fd5YBav
https://dl.doubtnut.com/l/_Nd2xJ1msyW73

c.—3, —5

D.—5, +3

Answer: C

o Watch Video Solution

119. The oxidation state of S-atoms in Caro's and Marshall's acids are:

A.+6, +6

B.+6, +4

C.+6, —6

D.+4, +6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Nd2xJ1msyW73
https://dl.doubtnut.com/l/_MwMkFHj5Y0Eu

120. In which fo the following has the oxidation number of oxygen been
arragned in increasing order ?

A.OF; < KOy < BaO5 < Os

B. BG,OQ < K02 < 03 < OF2

C. Ba02 < K02 < OF2 < K02

D. KO, < OF; < 03 < BaO,

Answer: B

o Watch Video Solution

121. The oxidation number of oxygen in KO3, Na;O- respectively are:

A.3,2
B.1,0
C. 0,

D.—0.33, — 1



https://dl.doubtnut.com/l/_100GtqsD3MyF
https://dl.doubtnut.com/l/_KeAtwqc7EuqP

Answer: D

° Watch Video Solution

122. Oxidation number of P in Ba(H5PO,), is

A—1
B.+1
C.+2

D.+3

Answer: B

° Watch Video Solution

123. If it is known that in Fey g0, Fe is present in +2 and +3 oxidation

state, what is the mole fraction of Fe? ™ in the compound?



https://dl.doubtnut.com/l/_KeAtwqc7EuqP
https://dl.doubtnut.com/l/_vkqOUHTtLWF1
https://dl.doubtnut.com/l/_3bh8krkVzY0k

12
"~ 25
25
12

12

11
12

Answer: D

o Watch Video Solution

124. Which ordering of compounds is according to the decreasing order

of the oxidation state of nitrogen ?

A.HNO;, NO, NH,Cl, N,
B. HNO;3, NO, Ny, NH,ClI
c. HNO;, NH,Cl, NO, N,

D. NO, HNO3, NH,CI, N,

Answer: B



https://dl.doubtnut.com/l/_3bh8krkVzY0k
https://dl.doubtnut.com/l/_rfk8m2iPxYLf

| ° Watch Video Solution

125. 2 mole of Ny H, loses 16 mole of electron is being converted to a new
compound X. Assuming that all of the NV appears in the new compound.

What is the oxidation stateof "N’ in X ?

C.+2

D.+4

Answer: C

° Watch Video Solution

126. When K5Cry0; is converted to K,CrQO,, the change in the

oxidation state of chromium is


https://dl.doubtnut.com/l/_rfk8m2iPxYLf
https://dl.doubtnut.com/l/_2MMkZCjKz7TP
https://dl.doubtnut.com/l/_00U2AkAc1qiW

A0

B.6

C.4

D.3

Answer: A

o Watch Video Solution

127. When a mananous salt is fused with a mixture of KNO3 and and

solid NaOH, the oxidation number of Mn change from +2 to:

A +4

B.+3

C.+6

D.+7

Answer: C



https://dl.doubtnut.com/l/_00U2AkAc1qiW
https://dl.doubtnut.com/l/_H9MbIGFwMnnc

| ° Watch Video Solution

128.In Fe(ll) -MnO, tirtration HNQOj is not used beacause:

A. it oxidisesMn>*
B. it reducesMnO,
C.it oxidiseFe®™

D. it reduces Fe3 ' formed

Answer: C

° Watch Video Solution

129. Which species are oxidised and reduced in the reaction?

FeCy04 + KMnO, — Fe*™ + COy + Mn*™"

A. Oxidised:Fe,C,Reduced:Mn

B. Oxidised:Fe,Reduced:Mn


https://dl.doubtnut.com/l/_H9MbIGFwMnnc
https://dl.doubtnut.com/l/_RAMbk7cESzwA
https://dl.doubtnut.com/l/_0ihYLIhrW1gc

C. Reduced:Fe,Mn,Oxidised:C

D. Reduced:C,0xidised:Mn,Fe

Answer: A

° Watch Video Solution

130. In which of the following reactions, H,O, is acting as a reducing

agent?

A. SOQ + H202 — H2SO4

B.2KI + H,0, — 2KOH + I,

C. PbS + 4H,0, — PbSO4 + 4H,0

D. AQQO + H202 — 2Ag + HQO + 02

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0ihYLIhrW1gc
https://dl.doubtnut.com/l/_vBaEd7XkucBN
https://dl.doubtnut.com/l/_F0wbgWXruCZE

131. Following reaction describes the rusting of iron
4Fe + 30, — 4Fe3t + 60%~
Which one of the following statements is incorrect?
A. This is an example of a redox reaction
B. Metallic iron is reduced to Fe* ™
C. Fe*" is an oxidising agent

D. Metallic iron is a reducing agent

Answer: B

o Watch Video Solution

132. Which reaction does not represent auto redox or disproptionation?

A.Cly+OH™ — Cl~ + ClO; + HyO
B. 2H202 — H202

C.2Cut — Cu?’t + Cu


https://dl.doubtnut.com/l/_F0wbgWXruCZE
https://dl.doubtnut.com/l/_4m9kh3uIiocJ

D. (NH4)2CT'207 — Ny + C’T‘203 + 4:H20

Answer: D

o Watch Video Solution

133. Which of the following is redox reaction ?

A. H,SO, reach with NaOH

B. In atmoshere, O; is formed from O, by lightning

C. Evaporation of H,O

D. Oxides of nitrogen are formed form nitrogen & oxygen by lightning

Answer: D

o Watch Video Solution

134. Which of the following is redox reaction?


https://dl.doubtnut.com/l/_4m9kh3uIiocJ
https://dl.doubtnut.com/l/_FkPgzWhlVnuG
https://dl.doubtnut.com/l/_vtNu6csyPsdJ

A.2Na[Ag(CN),] + Zn — Nay[Zn(CN),] + 2Ag
B. Ba02 + H2SO4 — BCLSO4 + H202
C. N205 + HgO — 2HNO3

D. AgNO3; + KI — Agl + KNO;

Answer: A

o Watch Video Solution

135. For the redox reation
MnO, + C,0? + HY — Mn?"CO, + H,0
The correct stoichiometric coefficients of Mno, C’2OL2[ and H*
respectively:
A. 2,516
B. 16,3,12

C.15]16,12

D. 2,16,5


https://dl.doubtnut.com/l/_vtNu6csyPsdJ
https://dl.doubtnut.com/l/_IDMIfk39gfjQ

Answer: A

° Watch Video Solution

136. In the chemical reaction,
KyCryO7 + ©H3804 + ySOy — K380, + Cry(S04)4 + zH20
x,y, and zare

A. x=1y=3,z-=1

B. x=4,y=1,2=4

C.x=3.y=2.z=1

D. x=2.y=2,z=1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IDMIfk39gfjQ
https://dl.doubtnut.com/l/_wUSoQkZeEz7n

137. Balance the following equation and choose the quantity which is the

sum of the coefficients of and products:

CSg —|—Cl2 — eeeee CCl4+SgCl2

A5

B.3

C.6

D.2

Answer: D

o Watch Video Solution

138. Balance the followings equations and choose the quantity which is
the sum of the coefficients of reactants and products

....... .PtCI, + ..... XeFy — > PtFg+ .....CIF + ..... Xe

A.(a) 16


https://dl.doubtnut.com/l/_PTl5QuczdyFN
https://dl.doubtnut.com/l/_GqOCYaZsC6PL

B. (b) 13

C.(c)18

D.(d) 12

Answer: A

° Watch Video Solution

139.1f 0.1 mole H3 PO, is completely neutralised by 5.6g KOH then select

the true statement.

A. (a) x=3 and given acid is diabasic

B. (b) x=4 and given acid has no P=H linkage

C. (c) x=2 and given acid does not form acid salt

D. (d) all of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GqOCYaZsC6PL
https://dl.doubtnut.com/l/_a7dy2VZqvY1A

140. When potassium permanganate is titrated against ferrous
ammonium sulphate, the equivalent weight of potassium permanganent

is

molecular mass

3

molecular mass

5

molecular mass
2

B. (b)

molecular mass

D. (d) 0

Answer: B

o Watch Video Solution

141. Equivalent weight of F'e.S; in the half reaction

FCSZ — F6203 + 502 is:

M


https://dl.doubtnut.com/l/_a7dy2VZqvY1A
https://dl.doubtnut.com/l/_Y2zdoicdHHDX
https://dl.doubtnut.com/l/_YGw890HhqUgu

Answer: B

° Watch Video Solution

142. The equivalent mass of HCl in the given reaction is:
A.16.25
B.36.5
C.73

D. 85.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YGw890HhqUgu
https://dl.doubtnut.com/l/_C44KdoNvDDe6
https://dl.doubtnut.com/l/_NYOxTZvsCDwf

143. Equivalent weight of H3 PO, when it disproportionates into PHjy

and H3POjs is (molwt. of H3 POy = M)

@

o 0
ua‘oé *'>|§ N|§

Answer: D

o Watch Video Solution

144. In the following reaction (unbalanced), equivalent weight of AsyS;3 is
related to molecular weight M by

AsyS3 + H+ NO; — NO + HyO + AsO:~ + SO;~

>

N


https://dl.doubtnut.com/l/_NYOxTZvsCDwf
https://dl.doubtnut.com/l/_XuQwjyW854oP

SIS

Answer: D

° Watch Video Solution

145. Sulphur forms the chlorides S,Cl, and SCl,. The equivalent mass of

sulphur in SCI, is

A. 8g/mol
B. 16g/mol
C. 64.8g/mol

D. 3g/mol

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XuQwjyW854oP
https://dl.doubtnut.com/l/_pgdBrywNWI19
https://dl.doubtnut.com/l/_FuKNM60NAbX8

146. The equivalent weight of an element is 4. Its chloride has a vapour

density 59.25. Find the valency of element.

A 4

B.3

C.2

D.1

Answer: B

o Watch Video Solution

147. 6 x 103 mole K,Cr,C; reacts completely with 9 x 102 mole
X" to give XO; and Cr3" . The value of n is :

A1

B. 2

C.3


https://dl.doubtnut.com/l/_FuKNM60NAbX8
https://dl.doubtnut.com/l/_1JV7ta058mNW

D. none of these

Answer: A

° Watch Video Solution

148. What mass of HyC504. 2H,0(mol. mass = 126) should be
dissoved in water to prepare 250mL of centinormal solution which act as
a reducing agent?

A.0.63g

B.0.1575g

C.0.126g

D. 0.875g

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1JV7ta058mNW
https://dl.doubtnut.com/l/_t8D56vApS2tX
https://dl.doubtnut.com/l/_lbb33o8Xbufm

149. The equivalent weight of salt

KHC50,4. HyC504.4H50 when used as reducing agent : —

Mol.mass
1

Mol.mass
2

Mol.mass
3

Mol.mass
4

Answer: D

o Watch Video Solution

150. The equivalent mass of dilvalent metal is W. The molecular mass of its

chloride is:

A.W+35.6

B. W+72

C.2W+72


https://dl.doubtnut.com/l/_lbb33o8Xbufm
https://dl.doubtnut.com/l/_Y0c9wgivnCv1

D.2W+35.6

Answer: C

° Watch Video Solution

151. When

BrOy ions reacts with Br-  Bryis liberated. The equivalent mass of Bryin

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Y0c9wgivnCv1
https://dl.doubtnut.com/l/_XVuvPgOFI4S8
https://dl.doubtnut.com/l/_Ouk1ZELiEIo7

152.If m4 gram of a metal A displaces mpg gram of another metal B from
its salt solution and if the equilvalent mass are E4 and Ep respectively

then equivalent mass of A can be expressed as:

A.EA = — X EB
mp
mag X mp
B.E, = A
Ep
mp
CEy,=—7—XxF
A B4 B
m
D.Es=,/—2 x Ep
mp
Answer: A

o Watch Video Solution

153. Hydrazine reacts with KI1Oj in presence of HCl as :
NyHy + 10, +2H" 4+ Cl~ — ICI + N, + 3H,0
The equivalent masses of Ny H, and K1Oj respectively are :

A. 8 and 53.5

B. 16 and 53.5


https://dl.doubtnut.com/l/_Ouk1ZELiEIo7
https://dl.doubtnut.com/l/_W99NNUGVP68G

C.8and 35.6

D. 8 and 87

Answer: A

° Watch Video Solution

154. What will be the normally of a solution obtained by mixiing 0.45N

and 0.60N NaOH in the ratio 2:1 by volume?

A. 04N

B.0.5N

C.1.05N

D. 0.15N

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_W99NNUGVP68G
https://dl.doubtnut.com/l/_OtQs9aegE1GA
https://dl.doubtnut.com/l/_qTJCJWhyZCiS

155. A solution contaning
2.7 x 10 *molofA*"ion requiredl.6 x 10~ *molofMnO,  for the
oxidation of A" t0AO0; the medium is:

A. neutral

B. acidic

C.strong basic

D. none of these

Answer: B

o Watch Video Solution

156. H,O, is used as bleaching reagent because on dissociation it gives

oxygen
1
<H202 — HQO + 502)

"Chachi420" used H50, solution to bleach her hair and she required


https://dl.doubtnut.com/l/_qTJCJWhyZCiS
https://dl.doubtnut.com/l/_8SYlWvPVpFuQ

2.24L0, gas at 1latm and 273K. She has a H;O, solution labelled '5.6V'

then what volume of such solution must she required to bleach her hair?

A. 200mL

B.300mL

C.400mL

D. 500mL

Answer: C

o Watch Video Solution

157.1.25g of a solid dibasic acid is completely neutralised by 25mL of 0.25
molar Ba(OH>) solution. Molecular mass of the acid is:

A.100

B. 150

C.120


https://dl.doubtnut.com/l/_8SYlWvPVpFuQ
https://dl.doubtnut.com/l/_HU0ve85xHCw3

D. 200

Answer: D

° Watch Video Solution

158. 10mL of N-HCl, 20mL of N /2H5S0O, and 30mLN /3HNQO; are
mixed togeher and volume made to one litre. The normally of H * in the
resulting solution is:

A.3N/100

B.N/10

C.N/20

D. N/40

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HU0ve85xHCw3
https://dl.doubtnut.com/l/_tjnDGk2Q9xjW
https://dl.doubtnut.com/l/_asXZ2vuErP7N

159. 0.45g of acid (mol. Wt. = 90) was exactly neutralized by 20ml of

0.5(M)NaOH.

The basicity of the given acid is
Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution

160. A 3.4g sample of H,0O, solution containing = % H,O by mass
requires xmL of a KMnQOy solution for complete oxidation under acidic

conditions. The molarity of KMnO, solution is :

Al

B.0.5


https://dl.doubtnut.com/l/_asXZ2vuErP7N
https://dl.doubtnut.com/l/_tpka0cO44743

C.04

D.0.2

Answer: C

o Watch Video Solution

161. What volume of Oy measured at standard condition will be formed by
the action of 100mL of 0.5NKMnQO, on hydrogen peroxide in an acid
solution?
The skeleton equation for the reaction is,
KM’I’LO4 + H2504 + HQOQ — KQSO4 + M’I’LSO4 + H2O + 02

A. 012litre

B. 0.028 litre

C. 0.56 litre

D. 112 litre

Answer: C


https://dl.doubtnut.com/l/_tpka0cO44743
https://dl.doubtnut.com/l/_3MqAf9VYAJy7

o Watch Video Solution

162. A sample of 1.0g of solid Fe;O30f80 % purity is dissolved in a
moderately concentrated HCl solution which is reduced by zinc dust. The
resulting solution required 16.7mL of a 0IM solution of the oxidant.

Calculate the number of electrons taken up by the oxidant.

Answer: C

o Watch Video Solution

163. K MnQOy reacts with oxalic acid according to the equation

2MnO, + 50,07 +16H ' — 2Mn** +10CO, + 8H,0


https://dl.doubtnut.com/l/_3MqAf9VYAJy7
https://dl.doubtnut.com/l/_UuznvkKBr3LI
https://dl.doubtnut.com/l/_YTjhfybYgYfc

Here, 20mL of 1.0M KMnQ, is equivalent to:

A. 120m Lof0. 25MH2 02 04

B. 150m Lof0. 10MH2 0204

C. 25mLof02OMH2 0204

D. 50m Lof0. 20MH2 Cg 04

Answer: C

o Watch Video Solution

164. Ratio of moles of Fe (Il) oxidised by equal volumes of equimolar

KMnO4 and K5Cry0y solutions in acidic medium will be:

A b5:3

B.1:1

C.1:2

D.5:6


https://dl.doubtnut.com/l/_YTjhfybYgYfc
https://dl.doubtnut.com/l/_cs0RQm4NwPKd

Answer: D

° Watch Video Solution

165. The mass of a mixtutre contining HCl and H,S0, is 01g. On
treatment withan excess of an AgNOjs solution, reacted with this acid
mixture gives 0.1435g of AgCl. Mass % of the H,SO3 mixture is:

A.36.5

B.63.5

C.50

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cs0RQm4NwPKd
https://dl.doubtnut.com/l/_FsMBQQ2Em4cD

166. A solution of NayS503 is standardized iodometrically against 0.167g
of KBrQOs. The process requires 50mL of the NayS;0, solution. What is
the normality of the NayS3037?

A. 0.2N

B. 0.12N

C.0.72N

D. 0.02N

Answer: B

o Watch Video Solution

167. 0.80g of impure (NH,),S50,4 was boiled with 100mL of a 0.2N NaOH
solution till all the NHj (g) evolved. the remaining solution was diluted
to 250mL. 25bmLof this solution was neutralized using 5mL of a
0.2NH,S0, solution. The percentage purity of the (NH,),SO4 sample

is:


https://dl.doubtnut.com/l/_DSUbatLefxvw
https://dl.doubtnut.com/l/_sY1Y1MIymqzd

A. 825

B.725

C.625

D.175

Answer: A

o Watch Video Solution

168. 0303 g of an organic compound was analysed for nitrogen by

Kjeldahl's method. The ammonia evolved was absorbed in 50 ml of 01 N

H,50,. The excess acid required 25 ml of 0.1 N NaOH for neutralisation.

Calculate the percentage of nitrogen in the compound.

A.8

B.16

C.20

D. 25


https://dl.doubtnut.com/l/_sY1Y1MIymqzd
https://dl.doubtnut.com/l/_IrF2qQUSbJIu

Answer: A::C

° Watch Video Solution

169. Find out % of oxalate ion ina given sample of an alkali metal oxalate
salt, 0.30g of it is dissolve in 100mL water and its required 90mL OF
Centimolar K MnQ, solution in aicdic medium:

A. 66%

B. 55%

C.44%

D. 6.6%

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IrF2qQUSbJIu
https://dl.doubtnut.com/l/_eBH22M0FL2Ld

170. 320 mg of a sample of magnessium having a coasting of its oxide
required 20mL of 0.IM hydrochloric acid for the complete neutralisation
of the latter. The composition of the sample is:

A. 87% Mg and 12.5%MgO

B. 12.5% Mg and 87.5 %MgO

C.80% Mg and 20%MgO

D. 20% Mg and 80%MgO

Answer: C

o Watch Video Solution

171. The concentration of bivalent lead ions in a sample of polluted of
polluted water that aslo contains nitrate ions is determined by adding
solid sodium sulphate (M=142) to exactly 500mL water. Calculate the
molarity of lead ions if 0.355g is sodium sulphate was nedded for

complete precipitation of lead ions as sulphate.



https://dl.doubtnut.com/l/_AoXhuT7WivgS
https://dl.doubtnut.com/l/_PNdGVYwuu8ZK

° Watch Video Solution

172. What volume of
HNO;(sp. gravity1.05mL ~!containing 12.6(w/W)ofHNO3)  that
reduce into NO is required to oxidise iron 1g 1g. FeSO4.7TH,0 in acid
medium is:

A.70mL

B. 0.57mL

C.80mL

D. 0.65mL

Answer: C

o Watch Video Solution

173. The total volume of 0.1MKMnQ, solution that are needed to

oxidize 100mg each of ferrius oxalate and ferrous sulphate in a mixture in


https://dl.doubtnut.com/l/_PNdGVYwuu8ZK
https://dl.doubtnut.com/l/_0EiItOfjsCuo
https://dl.doubtnut.com/l/_klLuAmwzJERt

acidic medium is:

A. 1.096mL

B.1.32mL

C.548mL

D. none of these

Answer: A

o Watch Video Solution

174. When 2.5g of a sample of Mohr's salt reacts completely with 50mL of

N
1—0KMnO4 solution. The % purity of the sample of Mohr's salt is:
A.(a) 784

B.(b) 70


https://dl.doubtnut.com/l/_klLuAmwzJERt
https://dl.doubtnut.com/l/_EMCu9FLv1YCh

Answer: A

° Watch Video Solution

175. 4 mole of a mixture of Mohr's salt and Fey(SO4)4 requires 500mL of
1M K,Cr50 for complete oxidation in acidic medium. The mole % of the
Mohr's salt in the mixture is:

A. 25

B. 50

C.60

D.75

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EMCu9FLv1YCh
https://dl.doubtnut.com/l/_gOb58tKWFFfH

176. The equivalent mass of a metal is twice to that of oxygen. How many
times the weight of it's oxide is greater than the weight of metal?

A 1.5

B.2

C.3

D.4

Answer: A

o Watch Video Solution

177. A metal oxide has the formular M;Os. It can be reduced by hydrogen
to give free metal and water 0.1596g of the metal oxide required 6 mg
hydrogen for complete reduction. The atomic weight of the metal is:

A.15.58

B.155.8


https://dl.doubtnut.com/l/_YRUIzl21YO7X
https://dl.doubtnut.com/l/_2JcdzcZETv3t

C.5.58

D.55.8

Answer: D

° Watch Video Solution

178. Calculate the mass of oxalic acid (H>C50,) which can be oxidised to
CO; by 100.0mL of MnO, solution, 10mL of which is capable of
oxidising 50.0mL of 1.0NI ~ to I5?

A.45g

B.22.5g

C.30g

D. 12.25g

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2JcdzcZETv3t
https://dl.doubtnut.com/l/_QxPvrrpFExpJ

179. A mixture of NaHC>,04 and KHC50,4. HyC50, required equal
volumess of 0.2NKMnO, and 0.12NNaOH separtely. What is the
molar ration NaHC50, and KHC504. H3O, in the mixture?

A6:1

B.1:6

C.1:3

D.3:1

Answer: D

o Watch Video Solution

180. Stannous sulphate (SnSO,) and potassium permanganate are used
as oxidising agents in acidic medium for oxidation of ferrrous ammnium
sulphate to ferric sulphate. The ration of number of moles of stannous

sulphate required per mole of ferrous ammonium sulphate to the


https://dl.doubtnut.com/l/_QxPvrrpFExpJ
https://dl.doubtnut.com/l/_P7fAzr0N14Gp
https://dl.doubtnut.com/l/_PsczrRraGj7q

number of moles of KMnQO, required per mole of ferrous ammonium

sulphate, is:

A 25

B.0.2

C.04

D. 2

Answer: A

o Watch Video Solution

181.1f a g is the mass of NaHC50, required to neutralize 100mL of 0.2M

NaOH and b g that required to reduce 100mL of 0.02mL K MnQOy in acidic

medium then:

A. a=b

B. 2a=b

C.a=2b


https://dl.doubtnut.com/l/_PsczrRraGj7q
https://dl.doubtnut.com/l/_KEdeYu1pSOMG

D. none of these

Answer: D

° Watch Video Solution

182. 2 mole , equimolar mixture of
Nay(C50, and HyC504requiredV; Lof0.1M KMnQO, in acidic medium
for complete oxidation. The same amount of the mixture required
VoLof0.2M NaOH for neutralisaation. The raation of V; and V5 is:
Al:2
B.2:1

C.4:5

D.5:4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KEdeYu1pSOMG
https://dl.doubtnut.com/l/_of0PBcgW0Bgg

183. A mixture contaning 0.05 moleof K,Cr,0; and 0.02mole of K MnO,
was treated eoith excess of Kl in acidic medium. The liberated iodine
required 1.0LofNasS;03 solution for titration. Concentration of
Nas 5505 solution was:

A. 0.4molL !

B.0.20molL !

C.0.25molL 1

D.0.30molL !

Answer: A

o Watch Video Solution

184.25mL of 2NHC, 50m LofANHNQO3 and xmL2 MH,SO, are mixed
together and the total volume is made up to 1L after dilution. 50mL if this
acid ixture completely reacteed with 25mL of a 1NNayCOj solution. The

value of x is:


https://dl.doubtnut.com/l/_UsxPBGq1CtSs
https://dl.doubtnut.com/l/_r0sHkpBIwI4a

A. 250mL

B. 62.5mL

C.100mL

D. none of these

Answer: B

o Watch Video Solution

185. In a iodomeric estimation, the following reactions occur
26”[1,2Jr + 417 — C’U,2IQ + I2, I + 2NCLQS203 — 2Nal + Na2S406
0.12 mole of CuSO4 was adde to excess of Kl solution and the liberated
iodine required 120mL of hypo. The molarity of hypo soulution was:

A.2

B.0.2

C.01

D.1



https://dl.doubtnut.com/l/_r0sHkpBIwI4a
https://dl.doubtnut.com/l/_caix5FVtjN1L

Answer: D

° Watch Video Solution

186. 1g mixture of equal number of mole of Li;CO3 and other metal
carbonate (M;COj3) required 21.6mL of 05 N HCl for complete
neutralisation reaction. What is the apoproximate atomic mass of the
other metal?

A. 25

B.23

C.51

D. 118

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_caix5FVtjN1L
https://dl.doubtnut.com/l/_bZfwPKBU6wgp

187. 32g of a sample of FeSO,.TH,0O were dissolved in dilute sulphuric
aid and water and its volue was made up to 1litre. 25mL of this solution
required 20mL of 0.02MKMnQO, solution for complete oxidation.
Calculate the mass% of F'eSO,4.7TH50 in the sample.

A.34.75

B. 69.5

C.895

D. none of these

Answer: A

o Watch Video Solution

188. In the mixture of (NaHCO3; + NayCO3), volume of HCI required
is x mL with phenolphthalein indicator and y mL with methly orange
indicator in the same titration. Hence, volume of HCI for complete

reaction of NayCOs is :


https://dl.doubtnut.com/l/_2sD4gI8jezbj
https://dl.doubtnut.com/l/_TbxdvgPDPU7O

A. 2x

B.y

C.x/2

D. (yx)

Answer: D

o Watch Video Solution

189. 0.1g of a solution containing Na;CO3 and NaHCOj3 requires 10mL
of 0.01 N HCI for neutralization using phenolphthalein as an indicator,

mass% of Na,COs in solution is:

A. 25


https://dl.doubtnut.com/l/_TbxdvgPDPU7O
https://dl.doubtnut.com/l/_ttBwrhGuQL0d

B.32

C.50

D. none of these

Answer: C

o Watch Video Solution

190. A mixture NaOH + Nay;COj3 required 25mL of 01 M HCl using
phenolpththalein as the indicator. However, the same amount of the
mixture required 30mL of 0.IM HCl when methyl orange was used as the
indicator. The molar ration of NaOH and Na,CQOj in the mixture was:
A2:1
B.1:2

C.4:1

D.1:4


https://dl.doubtnut.com/l/_ttBwrhGuQL0d
https://dl.doubtnut.com/l/_sPjTAUmjYRlh

Answer: A

o Watch Video Solution

191. When 100mL solution of NaOH and NaCOj was first titrated with
N/10 HCl in presence of HPh, 17.5mL were usedtill end point is obtained.
After this end point MeOH was added and 2.5mL of same HCl were
required to attain new end point. The amount NaOH in mixture is:

A. 0.06g per 100mL

B. 0.06g per 200mL

C.0.05 g per 100mL

D.0.012 g per 200mL

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sPjTAUmjYRlh
https://dl.doubtnut.com/l/_WYPZwJ4yYa7A

192. 1gram of a sample of CaCO3 was strongly heated and the CO,
liberated was absorbed iun 100mL of 0.5 M NaOH solution. Assuming 90%
purity for the sample, how many mL of 0.5M HCl would be required to
react with the resulting solution to reach the end point inpresence of
phenolphthaein?

A.73mL

B.41mL

C.82mL

D.100mL

Answer: C

o Watch Video Solution

193. A sample of pure sodium carbonate 0.318g is dissolved in water and
titrated with HCl solution. A volume of 60mL is required to reach the

methyl orange end point. Calculate the molarity of the acid.


https://dl.doubtnut.com/l/_STz5e2ihCBaQ
https://dl.doubtnut.com/l/_pWHHaxSJISSO

A.01M

B. 0.2M

C.04M

D. none of these

Answer: A

o Watch Video Solution

194. 10L of hard water required 5.6g of lime for removing hardness. Hence

temperorary hardness in ppm of CaCOj is:

A.1000

B. 2000

C.100

D.1

Answer: A



https://dl.doubtnut.com/l/_pWHHaxSJISSO
https://dl.doubtnut.com/l/_aC4SEZjeccdy

| o Watch Video Solution

195. 1L of pond water contains 20mgofCa?" and 12mgofMg* ™ ions.
What is the volume of a 2INNa,COj solution required to soften 5000L of
pond water?

A. 500L

B. 50L

C.5L

D. none of these

Answer: C

o Watch Video Solution

196. One litre of a sample of hard water contain
4.44mgCaCl, and 1.9mgofMgCl,. What is the total hardness in terms

of ppm of CaCO3?


https://dl.doubtnut.com/l/_aC4SEZjeccdy
https://dl.doubtnut.com/l/_dBsnTk9mQgkL
https://dl.doubtnut.com/l/_zn0uOJlmO4fF

A. 2ppm

B.3ppm

C.4ppm

D. 6ppm

Answer: D

o Watch Video Solution

197. If hardness of water sample is 200ppm, then select the incorrect

statement:

0.02

A. Mass ratio of CaCOstoH,0is 100

B. Mole ratio ofCaCO3toH,0is3.6 x 10~ °
C. Mass of CaCOspresent in hard wateris0.2g /L

D. 1 miliequivalent ofCaCOspresent in 1kg of hard water

Answer: D



https://dl.doubtnut.com/l/_zn0uOJlmO4fF
https://dl.doubtnut.com/l/_cQFxoRXS8M2s

| o Watch Video Solution

Match the ColumAli

Column-
© 1 Column-11
(4) 0.5 mole OfSOz(g) P) OCCU\)}: 11.2 0 at Vatm and 2700y
(B) 1gofHy(g) (Q) Weighs 24 ¢
(© 0.5 mole oan(g) (R) Total no. of atoms 1. N |

(D) 1 g molecule of 0,(g) (S) Weighs 32 ¢
1.

o Watch Video Solution

2. Match the following Column -1 and Column - I

Column-I
(1) 44 gCO, gas
(B) 35.2g0fCH,

Column-i1
(P) 1g molecule
(Q) N4 molecule
(C) 48 gof0O, gas (R) 22 N, electrons
(D) 44 g of N,0 gas (S) 49.28 L at 1 atm and 273 K

(T) N, atoms of oxygen

° Watch Video Solution



https://dl.doubtnut.com/l/_cQFxoRXS8M2s
https://dl.doubtnut.com/l/_AzgaQAnJ6Sfy
https://dl.doubtnut.com/l/_bt9jLIkM18CY

3. Match the following
Column-I Column-li
[Atomic masses (M)] (% composition of heavier isoio.
Isotope-} Isotope-II Average
(A) (z-1 (z+3) 2 (P) 25% by moles
(B) (z+1 (z+3) (z+2) (Q) 50% by moles
(9] z 3z 2z (R) % by mass dependent on =
(D) (z-1 (z+1 z (8) 75% by mass

columns

° Watch Video Solution

4. Match the following Columns

Column-I

(A) When Bi,S; converted into Bi” and S

(B) When Al,(Cr,07)3 reduced into Cr’

in acidic medium
(C) When FeS; converted into Fe
50,
(D) When Mn(NO3)» converted into
MnOZ and NO

0, and

Column-1}
p) 18
Q@ 1

R) 2

S) 10

° Watch Video Solution



https://dl.doubtnut.com/l/_F6w9NXyVnJpN
https://dl.doubtnut.com/l/_Cjjm0ldz0jur

Column-I Column-It
o -

3M
A PH, — PH; +P,H, ® E :7,
LBJ‘Q — I +10; @ Ezgg_
(C) MnOj +Mn*+H,0 ®R) E-= 15M
— Mn;0, +H* 6

(D) H,PO
52 T Py 11RO, ©) E=5?M

° Watch Video Solution

6. A sample of raw material contain NaNOs. It contains some NalO;
also. The NalO3 can be used as a source of iodine, produced in the
following reactions:

I0; + HSO; — I™ + SO, e (1)

I +10,; — I, + Hy0... (2)

One litre of sample solution containing 396 g NalO; is treated with

stoichiometric quantity of NaHSO3;. Now a substantial amount of


https://dl.doubtnut.com/l/_KYJXH016x4qi
https://dl.doubtnut.com/l/_VyWrBEPsSO0T

solution is added to reaction mixture to bring about the reaction (2).

Column-
o oo n-I Column-1y
(3! n-factor of IO 5 in reaction (2) ®) 6
{B) Number of moles of HSO3 used in @ 12

reaction (1)
(C) Moles of I, produced ®) 2
(D) Equivalents ofIO; usedinreaction(2)  (S) 5

° Watch Video Solution

1. Calculate number of neutrons present in 12 x 10* atoms of oxygen

(80'): (Given : Ny = 6 x 10%)

° Watch Video Solution

2. If mass of one atom is 3.32 x 10~ 23g, then calculate number of
nucleons (neutrons and protons) present in 2 atoms of the element:
(a) 40

(b) 20


https://dl.doubtnut.com/l/_VyWrBEPsSO0T
https://dl.doubtnut.com/l/_kdvWbVtyHATE
https://dl.doubtnut.com/l/_recTj406uRiR

(c) 10

(d) 40 NA

° Watch Video Solution

3. Calculate number of electron presentin 9.5 g ofPOi_:
(a) 6

(b) 5Ny

() 0.1N4

(d) 4.7N,

° Watch Video Solution

4. What is the number of moles of O-atoms in 126 amu of HNO; ?

° Watch Video Solution



https://dl.doubtnut.com/l/_recTj406uRiR
https://dl.doubtnut.com/l/_lkQxLuZUM323
https://dl.doubtnut.com/l/_fJGw3PXygSxv

5.What is the charge of 96 amu of s>~ ?
(a) 2C

(b)32x10 "¢

(©96x10 ¥ ¢

(d) 6C

° Watch Video Solution

6. A sample of sodium has a mass of 46g. What is the mass of the same
number of calcium atoms as sodium atoms present in given sample
(a)46 g

(b)20 g

(c)40g

(d)8sog

° Watch Video Solution

7. The total number of neutrons present in 54mLH,O(l) are :


https://dl.doubtnut.com/l/_TcOhsZ3OykT1
https://dl.doubtnut.com/l/_08rxvFcr2dmS
https://dl.doubtnut.com/l/_ACAJVRYgiFOc

° Watch Video Solution

8. Total number of electrons present in 48gMg>+ are:

° Watch Video Solution

9. The number of neutrons in 5g of D,O(D is 2, H) are:

° Watch Video Solution

10. Cisplatin, an anticancer drug, has the molecular formula
Pt(NHjs),Cly,. What is the mass (in gram) of one molecule ? (Atomic

masses : Pt =195, N = 14, H = 1, Cl = 35.5)

° Watch Video Solution



https://dl.doubtnut.com/l/_ACAJVRYgiFOc
https://dl.doubtnut.com/l/_CwO1cLnZHLTc
https://dl.doubtnut.com/l/_mpP80JRpXUmE
https://dl.doubtnut.com/l/_hFJRJLXW9lug

11. Aspirin has the fromula Cy HgO,4. How many atoms of oxygen are there

in a tablet weighing 360mg ?

° Watch Video Solution

12. 20g of ideal gas contains only atoms of S and O occupies 5.6L at 1

atm and 273K. what is the molecular mass of gas ?

° Watch Video Solution

13. A sample of ammonium phosphate, (NHy), PO, contains 18 moles of

hydrogen atoms. The number of moles of oxygen atoms in the sample is

° Watch Video Solution

14. Total number of moles of oxygen atoms in 3 litre Os(g) at

27°C and 8.21 atm are:


https://dl.doubtnut.com/l/_QqpjBOgAQkCH
https://dl.doubtnut.com/l/_i4xnRBHMMj1f
https://dl.doubtnut.com/l/_PwQOjqemhEm7
https://dl.doubtnut.com/l/_IzRdsgQV15Ty

(a) 3
(b) 1
(o)1

(d) None of these

° Watch Video Solution

15.3.011 x 10*? atoms of an element weighs 1.15gm. The atomic mass of
the element is :

(a) 10amu

(b) 2.3amu

(c) 35.5amu

(d) 23amu

° Watch Video Solution

16. One atom of an element z weighs 6.643 x 10~ 23g. Number of moles

of atoms in its 20kg is :


https://dl.doubtnut.com/l/_IzRdsgQV15Ty
https://dl.doubtnut.com/l/_70m0hFHLFJk9
https://dl.doubtnut.com/l/_insSKkIzqOah

A 4

B.40

C.100

D. 500

Answer: D

o Watch Video Solution

17. Mass of one atom of the element A is 3.9854 x 10~ *3g. How many

atoms are contained in 1g of the element A ?

o Watch Video Solution

18. Which of the following contains the largest mass of hydrogen atoms
(a) 5.0 moles of CyHyOy

(b) 11 moles of C3HgO3


https://dl.doubtnut.com/l/_insSKkIzqOah
https://dl.doubtnut.com/l/_IJK3BiDqhNVc
https://dl.doubtnut.com/l/_8vhO81iYzPtM

(c) 1.5 moles of CgHgOg

(d) 4.0 moles of CoH40,

° Watch Video Solution

19. If the volume of a drop of water is 0.0018m L then the number of

water molecules present in two drop of water at room temperature is :

° Watch Video Solution

20. It is known that atom contain protons, neutrons and electrons. If the
mass of neutron is assumed to half of its original value whereas that of

proton is assumed to be twice of its original value then the atomic mass

of 0614 will be :

° Watch Video Solution



https://dl.doubtnut.com/l/_8vhO81iYzPtM
https://dl.doubtnut.com/l/_ignz5X3Zuilb
https://dl.doubtnut.com/l/_OpLMSG8rb3gF

21. Common salt obtained from sea-water contains 8.775 % NaCl by

mass. The number of formula units of NaCl present in 25¢ of this salt is :

° Watch Video Solution

22. The number of hydrogen atoms present in 25.6g of sucrose

(C12H35011) which has a molar mass of 342.3¢g is :

° Watch Video Solution

23. Caffiene has a molecular mass of 194. If it contains 28.9 % by mass of

nitrogen, number of atoms of nitrogen in one molecule of caffeine is :

° Watch Video Solution

24. The density of water is 1g/mL. What is the volume occupied by 1

molecule of water ?

| e |


https://dl.doubtnut.com/l/_ASNnE0Cwx8X0
https://dl.doubtnut.com/l/_1SOtUYNKnoeJ
https://dl.doubtnut.com/l/_n8DdD9KHiwNd
https://dl.doubtnut.com/l/_vmssuKyq8QTw

l & Watch Video Solution J

25. A 25.0mm x 40.0mm piece of gold foil is 0.25mm thick. The density
of gold is 19.32g per ¢m®. How many gold atoms are in the sheet ?

(Atomic weight : Au = 197.0)

o Watch Video Solution

26. If average molecular mass of air is 29, then assuming N, and O, gases
are there, which option are correct regarding composition of are?
(2)75 % by mass of Ny(ii)75% "by moles of Ny (ii%)72.41 % bymassof
N_(2)

A.only i) is correct

B. only ii) is correct

C. both ii) and iii) are correct

D. both i) and ii) are correct


https://dl.doubtnut.com/l/_vmssuKyq8QTw
https://dl.doubtnut.com/l/_ZVFKXvxpC3uD
https://dl.doubtnut.com/l/_hA11hqqjHkix

Answer: C

° Watch Video Solution

27. Density of dry air containing only N, and O; is 1.15% at 740mm of

Hg and 300K.What is % composition of Ny by mass in the air ?

o Watch Video Solution

28. A gaseous mixture of Hy, and CO, gases contains 66 mass % of COs.

The vapour density of the mixture is :

o Watch Video Solution

29. The vapour density of a mixture containing NOy and N,Oy is 27.6.

The mole fraction of NyO, in the mixture is :

o Watch Video Solution



https://dl.doubtnut.com/l/_hA11hqqjHkix
https://dl.doubtnut.com/l/_8KRlHxj7b8XG
https://dl.doubtnut.com/l/_q5ApRIUaGjbr
https://dl.doubtnut.com/l/_5xods4FjIFIX

30. Density of ideal gas at 2 atm and 600K is 2g/L. Calculate relative

density of this with respect to Ne(g) under similar conditions : (given :

R = . t L l. K)
= gy atm—ol.

° Watch Video Solution

31. Average atomic mass of magnesium is 24.31amu. This magnesium is
composed of 79 mole % of 24 Mg and remaining 21 mole % of 25Mg and

26 Mg. Calculate mole % of 26 Mg.

° Watch Video Solution

32.Indium (atomic mass = 114.82) has two naturally occurring isotopes,
the predominant one from has isotopic mass 114.9041 and abundance of
95.72 % . Which of the following isotopic mass is the most likely for the

other isotope ?

° Watch Video Solution



https://dl.doubtnut.com/l/_7cyFj7HedwqH
https://dl.doubtnut.com/l/_pFDVRGNNroTp
https://dl.doubtnut.com/l/_S1I80TjGEXlg

33. Calculate density of a gaseous mixture which consist of 3.01 x 10*
molecules of N, and 32g of O, gas at 3 atm pressure and 860K

temperature (Given : R = T atm Lmol ' K1)

° Watch Video Solution

34. A mixture of O, and gas Y (mol. wt. 80) in the mole ratio a: b has a
mean molecular weight 40. What would be mean molecular weight, if the
gases are mixed in the ratio b: @ under identical conditions ? ( gases are

ideal)

° Watch Video Solution

35. If water sample are taken from sea, rivers or lake, they will be found to
contain hydrogen and oxygen in the approximate ratio of 1:8. This

indicates the law of :

° Watch Video Solution



https://dl.doubtnut.com/l/_bgSB6ONzrbIT
https://dl.doubtnut.com/l/_jtNP9BEISL5b
https://dl.doubtnut.com/l/_l6PxWlMlec6Q

36. Hydrogen and oxygen combine to form Hy0O, and H,O containing

5.93% and 11.2 % hydrogen respectively. The data illustrates :

° Watch Video Solution

37. Which one the following combinations illustrate law of reciprocal

proportions ?

° Watch Video Solution

38. Carbon and oxygen combine to from two oxides, carbon is respectively

12:16 and 12: 32. These figures illustrate the :

° Watch Video Solution

39. A sample of calcuium carbonate (CaCOs) has the following

percentage composition: Ca =40% ,C =12%,0 = 48 % If the law


https://dl.doubtnut.com/l/_TJvvIESA8ISy
https://dl.doubtnut.com/l/_GCoi5aZMgVua
https://dl.doubtnut.com/l/_jncwYKBO8xMj
https://dl.doubtnut.com/l/_xmKR0MfPkOAb

of constant proportions is true. Then the weight of calcium in 4g of a

sample of calcium carbonate obtained from another source will be

° Watch Video Solution

40.The law of multiple proportion is illustrated by the two compounds :

° Watch Video Solution

41. All the substance listed below are fertilizers that contribute nitrogen
to the soil. Which of these is the richest source of nitrogen on a mass
percentage basis ?

(a) Urea

(b) Ammonium Nitrate

(c)Nitric oxide

(d) Ammonia

° Watch Video Solution



https://dl.doubtnut.com/l/_xmKR0MfPkOAb
https://dl.doubtnut.com/l/_m1j57qRIdXWi
https://dl.doubtnut.com/l/_GeIr7LlfqABe
https://dl.doubtnut.com/l/_xIb3EJ8pEAw5

42. One mole of element X has 0.444 times the mass of one mole of
element Y. One atom of element X has 2.96 times the mass of one atom of

C'2. What is the atomic mass of Y ?'

° Watch Video Solution

43. A given sample of pure compound contains 9.81¢g of Zn, 1.8 x 10%
atoms of chromium, and 0.60 mol of oxygen atoms. What is the simplest

formula?

° Watch Video Solution

44.The formula of an acid is H X O,. The mass of 0.0242 moles of the acid

is 1.657g. What is the atomic mass of X ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xIb3EJ8pEAw5
https://dl.doubtnut.com/l/_SnTRwsCqrxRy
https://dl.doubtnut.com/l/_DkM1Z0SoGFCj

45.What is the emprical formula of vanadium oxide , if 2.74g of the metal

oxide contains 1.53g of metal ?

° Watch Video Solution

46. Determine the empirical formula of kelvar, used in making bullet proof

vests, containing 70.6 % C, 4.2 % H,11.8 % N and 13.4% O:

A C,H;NO,

B. Cy Hs Ny O

c. C,HyNO

D. C,H;NO

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6IKEYihaB0zW
https://dl.doubtnut.com/l/_p7oRBNz70cmb

47. The hydrate salt NayCO;3. H50 undergoes 63 % loss in mass on

heating and becomes anhydrous. The value of z is :

° Watch Video Solution

48. A 6.85g sample of the hydratedSr(OH),. x H,O is dried in an oven to
give 3.13g of anhydrous Sr(OH),. What is the value of z? (Atomic

masses : Sr = 87.60. O = 16.0, H = 1.0)

° Watch Video Solution

49. What percentage of oxygen is present in the compound

CGCOg.3CG3(PO4)2 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_CHqiVPVZsraZ
https://dl.doubtnut.com/l/_20KcKaE7lhSk
https://dl.doubtnut.com/l/_HpuRPMti3sRP

50. Deildrin, an insecticide, contains C, H, Cl and O. Combustion of
29.72mg of dieldrin gave 41.21mgCQO, and 5.63mg of H,O . In a
separate analysis 25.31mg of dieldrin was converted into 57.13mg Ag Cl.

What is the empirical formula of dieldrin ?

° Watch Video Solution

51. A gaseous compound is composed of 85.7% by mass carbon and
14.3 % by mass hydrogen. Its density is 2.28 g/litre at 300K and 1.0 atm

pressure. Determine the molecular formula of the compound.

° Watch Video Solution

52. Complete combustion of 0.858¢g of compound X given 2.64g of CO,

and 1.26g of H50O The lowest molecular mass X can have ;

° Watch Video Solution



https://dl.doubtnut.com/l/_9Hu1thSvAKkR
https://dl.doubtnut.com/l/_35q1cQxrovu9
https://dl.doubtnut.com/l/_yfQ45bafYDrw
https://dl.doubtnut.com/l/_DtHraEN4MqBj

53. The sulphate of a metal M contains 9.87 % of M, This sulphate is

isomorphous with ZnS0O,.7H50. The atomic weight of M is

° Watch Video Solution

54. In an organic compound of molar mass 108gmmol 'C, H and N
atoms are presents in 9: 1: 3.5 by mass. Molecular formula can be
B.CrH\ N
C.C5HgN;

D. C4H18N3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DtHraEN4MqBj
https://dl.doubtnut.com/l/_IO0cQw9QcywJ

55.0n analysis, a certain compound was found to contain 254g of iodine
(at.mass 127) and 80g oxygen (at.mass 16). What is the formula of the

compound ?

o Watch Video Solution

56. An element A is teravalent and another element B is divalent. The

formula of the compound formed from these elements will be :

o Watch Video Solution

57. A compound used in making nylon, contains 43.8 % oxygen. There are
four oxygen atoms per molecule. What is the molecular mass of
compound ?

A. 36

B. 116

C. 292


https://dl.doubtnut.com/l/_okc60jYQ6FAU
https://dl.doubtnut.com/l/_N0NvahfQcgDp
https://dl.doubtnut.com/l/_f0niWGTgbpXR

D. 146

Answer: D

° Watch Video Solution

58. Suppose two elements X and Y combine to form two compound

XY; and X,Y3weighs 85¢g. The atomic masses of X and Y are respectively

° Watch Video Solution

59. 44¢g of a sample on complete combustion given 88gC' O, and 36g of

H,0. The molecular formula of the compound may be :

° Watch Video Solution



https://dl.doubtnut.com/l/_f0niWGTgbpXR
https://dl.doubtnut.com/l/_uoXB1LtMnxgE
https://dl.doubtnut.com/l/_FgzsBZqHyjO5

60. 40 miligram diatomic volatile substance (X5) is converted to vapour
that displaced 4.92m L of air at 1atm and 300k. Atomic mass of element X

is nearly :

° Watch Video Solution

61. Two element X ( at . Mass = 75) and Y(at .mass =16) combine to given a

compound having 75.8 % of X. The formula of the compound is :

° Watch Video Solution

62. A sample of phosphorus that weighs 12.4g exerts a pressure 8 atm in
a 0.821 litre closed vesel at 527°C. The molecular formula of the

phosphorus vapour is :

° Watch Video Solution



https://dl.doubtnut.com/l/_PqWKTWYDKG2T
https://dl.doubtnut.com/l/_7dHyufZUlw1H
https://dl.doubtnut.com/l/_50EZUMvWCRyJ

63. Manganese forms non-stoichiometric oxides having the general
formula MnO,. The value of x for the compound that analyzed 64 % by

mass Mn :

° Watch Video Solution

64. 1.44 gram if titanium (7') reacted with excess of Oy and produce z

gram of non — stoichiometric compound 7% 440. The value of z is :

° Watch Video Solution

65. Which of the following setups is correct to calualate the mass (in g) of
KClO3 produced from the reaction of 0.150 moles of Cl, ?

3Cl, + 6KOH — 5KCI05 + 3H,0

° Watch Video Solution



https://dl.doubtnut.com/l/_fnokcLSKpPaK
https://dl.doubtnut.com/l/_8S4j2hAJv6r0
https://dl.doubtnut.com/l/_klMp58No0u7t

66. 2.0g of a sample contains mixture of SiOy and Fe;O3. On very
strong heating, it leaves a residue weighing 1.96g. The reaction
responsible for loss of mass is given below.
Fe 20 3(s)rarrFe 30 4(s)+0O 2(s)

, (unbalanceequation). WisthepercentbymassofSiO 2° in  original

sample ?

o Watch Video Solution

67. What volume of air at 1 atm and 273K containing 21 % of oxygen by
volume is required to completely burn sulphur (Sg) present in 200g of
sample , which contains 20 % inert material which does not burn.

1
Sulphur burns according to the reaction gSg(s) + O3(g9) — SO5(9)

o Watch Video Solution

68. For the reaction,

2Fe(NOs); + 3NayCO;3 — Fey(CO3)5 + 6NaNOs initially 2.5 mole


https://dl.doubtnut.com/l/_tkFwZ0kaFbv0
https://dl.doubtnut.com/l/_Y88RCPXnqxkW
https://dl.doubtnut.com/l/_u1q81VX0Es3J

of Fe(INOs), and 3.6 mole of Na;COj are taken. If 6.3 mole of NaNO;

is obtained then % yield of given reaction is :

o Watch Video Solution

69. How many of P, can be produced by reaction of 0.10 moles
Cas(POy)4F, 0.36 moles SiO, and 0.90 moles C' according to the
following reaction ?

4Cas(PO,)F + 185i0, + 30C — 3P, + 2CaF; + 18CaSiOs + 30CO

o Watch Video Solution

70. Some older emergency oxygen masks contains potassium superoxide
KO; which reacts with CO, and water present in exhaled air to produce
oxygen according to the given equation. If a person exhales 0.667g of

CO5 per minute, how many gram of KO, are consumed in 5.0 minutes ?

o Watch Video Solution



https://dl.doubtnut.com/l/_u1q81VX0Es3J
https://dl.doubtnut.com/l/_Ma5qj4eFoCBL
https://dl.doubtnut.com/l/_fQPxxxW3YQkQ
https://dl.doubtnut.com/l/_cKMvP1kfabAs

71. The mass of Ny F produced by the reaction of 2.0g of NH3 and 8.0g

of F; is 3.56g. What is the per cent yield ?

° Watch Video Solution

72. Calculate the mass of lime (CaO) obtained by heating 200kg of 95 %

pure lime stone (CaCog3):

° Watch Video Solution

73. Phosphoric acid (H3PO,) prepared in a two step process. (1)
P, + 505 — P,0Oqy (2) P,Oqy + 6H;0 — 4H3PO, We allow 62g of
phosphorus to react with excess oxygen which form P,Oqq in 85 % yield.
In the step (2) reaction 90 % yield of H 3PO 4isobta € ed. massof

H 3PO 4" produced is :

° Watch Video Solution



https://dl.doubtnut.com/l/_cKMvP1kfabAs
https://dl.doubtnut.com/l/_9HNV4zCocgtD
https://dl.doubtnut.com/l/_GCFubzTgB1Qb

74.9 moles of "D" and 14 moles of E are allowed to react in a closed vessel
according to given reactions. Calculate number of moles of B formed in
the end of reaction, if 4 moles of G are present in reaction vessel.
(percentage yield of reaction is mentioned in the reaction) Step -1

3D + 4E80% — 5C + A Step-23C + 5G50% — 6B + F

o Watch Video Solution

75. The chief ore of Zn is the sulphide ZnS. The ore is concentrated by
froth floatation process and then heated in air to convert ZnS to ZnO
2ZnS + 303 — 2Zn0O + 250 (80% conversion)
Zn0O + Hy,804 — ZnSO4 + H,O (100% conversion) and
2Z2n8S04 + 2H50 — 2Zn + 2H5,504 + O, (80% conversion).The

number of moles of Zn.S required for producing 2 moles of Zn will be :

o Watch Video Solution



https://dl.doubtnut.com/l/_OZpiJueOUKFt
https://dl.doubtnut.com/l/_kTWS66VLWsCL

76. 0.8 moles of a mixture of CO and CO, requires exactly 40 gram of
NaOH in solution for complete conversion of all the CO, into Na;COs.
How many more of NaOH would for require for conversion into

Na,COjs if the mixture (0.8 mole) is completely oxidised to CO5 ?

o Watch Video Solution

77. Silver oxide (Ag,O) decomposes at temperature 300°C yielding
mettallic silver and oxygen gas. A 1.60g sample of impure silver oxide
yields 0.104g of oxygen gas. What is the per cent by mass of the silver

oxide in the sample ?

o Watch Video Solution

78. Comprehension # 5
342g of 20 % by mass of Ba(OH), solution (sp. gr.0.57) is reacted with
200mL of 2M HNOj3 according to given balanced reaction :

Ba(OH), + 2HNO; — Ba(NOs), + 2H,0


https://dl.doubtnut.com/l/_SSoLF8mBbaFU
https://dl.doubtnut.com/l/_zm2SphmPmIZn
https://dl.doubtnut.com/l/_1yezanzqjMJp

Find the molarity of the ion in resulting solution by which nature of the

above solution is identified, is

° Watch Video Solution

79.100m L of H5S0O, solution having molarity 1M and density 1.5g/mL
is mixed with 400mL of water. Calculate final m plarity of Hy50,

solution, if final density is 1.25g /mL?

° Watch Video Solution

80. What volume of HCT solution of density 1.2%m3 and containing
36.5 % by mass HCI, must be allowed to react wtih zinc (Zn) in order

to liberate 4.0g of hydrogen ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1yezanzqjMJp
https://dl.doubtnut.com/l/_Ttp3fH6VZVKv
https://dl.doubtnut.com/l/_52JLpATglqB1

81. An ideal gaseous mixture of ethane (CyHg) and ethene (CyHy)
occupies 28 litre at latm 0°C. The mixture reacts completely with
128gm O, to produce CO5 and H,0. Mole of fraction at CyHy in the

mixture is-

° Watch Video Solution

82. Wood's metal contains 50.0 % bismuth, 25.0 % lead, 12.5 % tin and
12.5% cadmium by mass. What is the mole fraction of tin ?(\ (Atomic

mass : Bi = 209, Pb = 207, Sn = 119, Cd = 112)

° Watch Video Solution

83. The density of a 56.0 % by mass aqueous solution of 1-propanol
(CH3;CH,CH,0OH) is 0.8975%m3. What is the mole fraction of the 1-

propanol ?

° Watch Video Solution



https://dl.doubtnut.com/l/_77R6KOzsbWpl
https://dl.doubtnut.com/l/_22CSQ7HgDgU7
https://dl.doubtnut.com/l/_Eu7ZKVGZLvtA

84. What is the molartiy of SOZ_ ion in aqueous solution that contain
34.2p £ of AL(SOy4),? (Assume complete dissociation and density of
solution 1£L)
m
A 3x10~4
B.2x10 %
c.1074

D. None

° Watch Video Solution

85. The relation between molarity (M) and molality (m) is given by :

(p=density of solution (g/mL), M;= molecular mass of solute)

° Watch Video Solution



https://dl.doubtnut.com/l/_7r3nxE2m50qW
https://dl.doubtnut.com/l/_Zhujzow4lmyC

86. Molarity and molality of a solution of an liquid ( mol. Mass =50) in

aqueous solution is 9 and 10 respectively . What is the density of solution

?

° Watch Video Solution

87. An aqueous solution of ethanol has density 1.025 g/mL and it is 2 M.

What is the molality of this solution ?

° Watch Video Solution

88. 0.2 mole of HCI and 0.2 mole of barium chloride were dissolved in

water to produce a 500m L solution. The molarity of the CI ~ ions is :

° Watch Video Solution



https://dl.doubtnut.com/l/_9fd90kCiUOrV
https://dl.doubtnut.com/l/_bvdIlkqX1uoT
https://dl.doubtnut.com/l/_j8Mz1j4CZuij

89. Calculate the mass of anhyrous HCI in 10mL of concentrated HCI

(density =1.2 g per ml) solution having 37 % HCI by mass is :

° Watch Video Solution

90. Calculate the molality of 1L solution of 80 % H2SO4(%) given that

the density of the solution is 1.80gmL .

° Watch Video Solution

91. Fluoxymesterone, CgHy9F' O3, is an anabolic steroid. A 500 mL
solution is prepared by dissolving 10.0mg of the steoid in water. 10.0mL
portion of this solution is diluted to a final volume of 1.00L. what is the

resulting molarity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ONt8o34CVUZv
https://dl.doubtnut.com/l/_zJijso9n4hgc
https://dl.doubtnut.com/l/_o7UylR3RM9TP

92. The 25mL of a 0.15M solution of lead nitrate, Pb(NOs),, reacts with
all of the aluminium sulphate, Al(SOy),, present in 20m L of a solution.
What is the molar concentration of the AL (SO4); ?

3Pb(NOs),(aq) + AL (SO4)4(agq) — 3PbSO4(s) + 2AI(NO;3),(aq)

° Watch Video Solution

93. Concentrated HNOj3 is 63 % HNQO3; by mass and has a density of
1.4g /mL. How many millilitres of this solution are required to prepare

250mL of a 1.20M HNOs solution ?

° Watch Video Solution

94. 50mLof20.8% (w/V) Ba Cl 2 and (aq) and 100mLof9.8% (w/V)
H 2SO 4(aq)solutionsaremized. MolarityofCI"- in the resulting

solution is : (At mass of Ba = 137)

° Watch Video Solution



https://dl.doubtnut.com/l/_ygZNzPRU5yhE
https://dl.doubtnut.com/l/_MNjK1G7dmy3W
https://dl.doubtnut.com/l/_Mo3X0YTfZw3L

95. 100mL of 10 % NaOH(%) is added to 100mL of 10 % HC’I(%).

The nature of resultant solution is :

° Watch Video Solution

96. How many millilitres of 0.1M H550, must be added to 50mL of
0.1MNaOH to give a solution that has a concentration of 0.05M in

H,50,47?

° Watch Video Solution

97.1MHC! and 2M HCI are mixed in volume ratio 4:1. What is the final

molarity of HCl solution?

° Watch Video Solution



https://dl.doubtnut.com/l/_99xcEtLCKh3U
https://dl.doubtnut.com/l/_mUpovDjUz2OY
https://dl.doubtnut.com/l/_d0bs1ZJVnkvY

98. Three solutions X,Y,Z of HCl are mixed to produce 100mL of 0.IM
solution . The molarities of X,Y and Z are 0.7M, 0.12M and 0.15M
respectively. What respective volumes of X,Y and Z should be mixed?

a. 50mL,25mL,25mL

b. 20mL,60mL,20mL

c.40mL, 30mL, 30mL

d. 55mL, 20mL, 25mL

o Watch Video Solution

99. A bottle of an aqueous H,0, solution is labelled as '28V' H,O, and

the density of the solution (ing /mL) is 1.25. Choose the correct option.

o Watch Video Solution

100. The impure 6g of NaCl is dissolved in water and then treated with
excess of silver nitrate solution. The mass of p[recipitate of silver chloride

is found to be 14g. The % purity of NaCl solution would be:


https://dl.doubtnut.com/l/_VgxpgAsAd5vD
https://dl.doubtnut.com/l/_nS1lA25xHtyL
https://dl.doubtnut.com/l/_wW5iVM2VY8dJ

o Watch Video Solution

101. AI;(SOy4)4 solution of 1 molal concentration is present in 1 litre
solution of density 2.684%L. How many moles of BaSO, would be

precipitated on adding excess of BaCl, in it ?

o Watch Video Solution

102. A certain public water supply contains 0.10ppb (part per billion) of
chloroform (CHCI3). How many molecules of CHCI; would be

obtained in 0.478m L drop of this water ?(assumed d = I%L)

o Watch Video Solution

103. Decreasing order (first having highest and then other following it) of
mass of pure NaOH in each of the aqueous solution

(P) 50 gm of 40 % (w /w) NaOH


https://dl.doubtnut.com/l/_wW5iVM2VY8dJ
https://dl.doubtnut.com/l/_9cSIU2tnNroP
https://dl.doubtnut.com/l/_S3WJ1Dyc49ZG
https://dl.doubtnut.com/l/_6RJWwpOWE8mI

(Q) 50 gm of 50 % (w /w) NaOH [dgy,. = 1.2gm /ml]

(R) 50 gm of 20 M NaOH [dy,,. = 1gm /ml]

o Watch Video Solution

104. What is the molar mass of diacidic organic Lewis base (B), if 12g of
its chloroplatinate salt (BH,PtCIg) on ignition produced 5g residue of

pt?

o Watch Video Solution

105. On strong heating, One gram of the silver salt of an organic dibasic
acid yields 0.5934g of silver. If the mass percentage of carbon in it 8 times
the mass percentage of hydrogen and one - half the mass percentage of

oxygen, determine the molecular formula of the acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_6RJWwpOWE8mI
https://dl.doubtnut.com/l/_mG00I8ltw2Zl
https://dl.doubtnut.com/l/_7zirxpjKoUfX

106. 0.607g of silver salt of tribasic organic acid was quantitatively

reduced to 0.37g of pure Ag. What is the mol. Wt. of the acid ?

o Watch Video Solution

107. A sample of peanut oil weighing 2g is added to 25mL of
0.40M KOH. After saponification is complete, 8.5mL of 0.28M H5S0y is
needed to nuetralize excess of KOH. The saponification number of
peanut oil is : (saponification number is defined as the milligrams of

KOH consumed by 1g of oil)

o Watch Video Solution

108. 20m L of a mixture of CO and H, were mixed excess of Oy and
exploded & cooled. There was a volume contraction of 23m L. All volume
measurements corresponds to room temperature (27°C) and one
atmospheric pressure. Determine the volume ratio (V;:V3) of CO and

H, in the original mixture .


https://dl.doubtnut.com/l/_1eEVFhHhIQQS
https://dl.doubtnut.com/l/_U7cWYGubx5f3
https://dl.doubtnut.com/l/_1IZZTaoJETtk

° Watch Video Solution

109. In the reaction:

2A1(s) + 6HCI(aq) — 2A13" (aq) + 6Cl™ (aq) + 3H,(g)

° Watch Video Solution

110. A gaseous mixture of propane and butane of volume 3 litre on
complete combustion produces 11.0 litre CO, under standard conditions

of temperature and pressure. The ratio of volume of butane to propane is

° Watch Video Solution

111. Phosphorous has the oxidation state of +-1in:

° Watch Video Solution



https://dl.doubtnut.com/l/_1IZZTaoJETtk
https://dl.doubtnut.com/l/_nryAFjyslXOs
https://dl.doubtnut.com/l/_DZM9wPAUHFeY
https://dl.doubtnut.com/l/_wCc1KMRTVOwN
https://dl.doubtnut.com/l/_NZnEEISstge5

112. Oxidation state(s) of chlorine in CaOCl!, (bleaching powder)

° Watch Video Solution

113. The oxidation number of sulphur in Sg, SoFy, HyS and HyS0,

respectively are :

° Watch Video Solution

114. Fe shows an oxidation state of +1 in : a) FeCl3 b) [ Fe (H20)6] 2+ ¢)

Fe(CO)5 d) [ Fe (H20 )5NO + ] SO4

A. FeCl3

B.[ Fe (H20)6] 2+

C. Fe(CO)5

D.[ Fe (H20 )5NO + ] SO4

Answer: D



https://dl.doubtnut.com/l/_NZnEEISstge5
https://dl.doubtnut.com/l/_unp2yjEUm0lo
https://dl.doubtnut.com/l/_7FyBBbJi2jRm

I ° Watch Video Solution

115. When SO, is passed into an acidified potassium dichromate solution,
the oxidation numbers of sulphur and chromium in the final products

respectively are :

o Watch Video Solution

116. The oxidation state of S-atoms in Caro's and Marshall's acids are :

o Watch Video Solution

117. In which of the following the oxidation number of oxygen has been
arranged in increasing order :

(@) BaO9 < O3 < OF; < KO,

(b) BaOy < KO5 <03 < OF,

(c) OF; < KO5 < BaO4 < O3

(d) K02 < OF2 < 03 < Ba02


https://dl.doubtnut.com/l/_7FyBBbJi2jRm
https://dl.doubtnut.com/l/_g2cckcDNp49x
https://dl.doubtnut.com/l/_b1YfbICDjFUL
https://dl.doubtnut.com/l/_wKzmpkSP5qUG

° Watch Video Solution

118. What is the oxidation numbers of oxygen in KO3 and NayO5?

° Watch Video Solution

119. The oxidation number of phosphorus in Ba(H3PO,), is :

° Watch Video Solution

120. If it is known that Feg 96O, F'e is present in +2 and + 3 oxidation

state, What is the mole fraction of Fe™ in the compound ?

° Watch Video Solution

121. Which of the following sequence of compounds is according to the

decreasing order of the oxidation state of nitrogen ?


https://dl.doubtnut.com/l/_wKzmpkSP5qUG
https://dl.doubtnut.com/l/_KLhhbaM2v079
https://dl.doubtnut.com/l/_Or2Ga5KwKi14
https://dl.doubtnut.com/l/_T3s3GEogN9V8
https://dl.doubtnut.com/l/_O2WThz9ct20M

(a) HNOs, NO, NH,C1, N,
(b) HNOs, NO, N, , NH,ClI
(c) HNOs, NH,CI, NO, N,

(d) NO, HNO3,NH,Cl, N,

° Watch Video Solution

122. 2 mole of NyH, loses 16 mole of electron is beings converted to a
new compound X. Assuming that all of the N appears in the new

compound. What is the oxidation state of 'N'in X ?

° Watch Video Solution

123. When K,Cry0; is converted to K,CrO, then change in the

oxidation state of chromium is :

° Watch Video Solution



https://dl.doubtnut.com/l/_O2WThz9ct20M
https://dl.doubtnut.com/l/_ukqj0NHsSx8t
https://dl.doubtnut.com/l/_tUTFUGs5do3i

124. When a manganous salt is fused with a mixture of KNOj and solid

NaOH, the oxidation number of Mn change from +2to:

° Watch Video Solution

125. The oxidation number of nitrogen atoms in NH,;NQO5 are :

° Watch Video Solution

126.In Fe(II) — MnO, titration, HNQOj is not used because :

° Watch Video Solution

127. Which species are oxidized and reduced in the reaction ?

FeCy0, + KMnO, — Fe*™ + COy + Mn*™*

° Watch Video Solution



https://dl.doubtnut.com/l/_aBUb5XcR2BAc
https://dl.doubtnut.com/l/_zZFhmLjvJInf
https://dl.doubtnut.com/l/_4Z5IOo4AkBTM
https://dl.doubtnut.com/l/_gYmOhvIiTkPk
https://dl.doubtnut.com/l/_Em1GiXCjsW5Z

128. In which of the following reactions, H,O, is acting as a reducing

agent?

° Watch Video Solution

129. Following reaction describe the rusting of iron 4Fe + 305 - AFed "+

60°~

Which one of the following is incorrect?
(a) This is an example of Redox reaction.
(b) Metallic iron is reduced to Fe3+

(c) Fe3 ™ is an oxidising agent.

(d) Metallic iron is a reducing agent.

° Watch Video Solution

130. Which reaction does not represent auto redox or disproportionation

?

° Watch Video Solution



https://dl.doubtnut.com/l/_Em1GiXCjsW5Z
https://dl.doubtnut.com/l/_zDxXGuNkK45n
https://dl.doubtnut.com/l/_JIr6bZXV6ASv

131. Which of the following is redox reaction ?

° Watch Video Solution

132. Which of the following is a redox reaction ?

° Watch Video Solution

133. For the redox reaction,
MnO, TC,0}” + H* — Mn** + CO, + H,0 the correct
coefficients of the reactants for the balanced reaction are respectively

MnO, ,Cy0; ,H" :

° Watch Video Solution



https://dl.doubtnut.com/l/_JIr6bZXV6ASv
https://dl.doubtnut.com/l/_I2zsgxZRD8O0
https://dl.doubtnut.com/l/_2Tl2p10esuDX
https://dl.doubtnut.com/l/_dV61b2L3LzL1

134. In the chemical reaction,
KzC’I"207 + $H2504 + ’ySO2 — K2504 + CT2(SO4)3 + ZHzO, the

value of x, y and z respectively are :

° Watch Video Solution

135. Balance the followings equations and choose the quantity which is
the sum of the coeffficients of reactants and products

....... CSy + ........Cly — CCly + ......5Cl,

° Watch Video Solution

136. Balance the followings equations and choose the quantity which is
the sum of the coefficients of reactants and products

....... .PtCly + .... . XeFy — PtFg + .....ClF + ..... Xe

° Watch Video Solution



https://dl.doubtnut.com/l/_HizSO7Vd64dg
https://dl.doubtnut.com/l/_UaD7MJ9QVgXp
https://dl.doubtnut.com/l/_k5Y22LIKPqSh
https://dl.doubtnut.com/l/_BsuBn0DYfP1n

137. 1t 0.1 mole H3PO, is completely neutralised by 5.6gKOH then

select the true statement.

A. x=3 and given acid is dibasic

B.x=4 and given acid has no P-H linkage

C.x=2 and given acid does not form acid salt

D. all of the above

Answer: D

° Watch Video Solution

138. When potassium permanganate is titrated against ferrous
ammonium sulphate in acidic medium, the equivalent mass potassium

permanganate is ,

° Watch Video Solution



https://dl.doubtnut.com/l/_BsuBn0DYfP1n
https://dl.doubtnut.com/l/_kO4U5fI8RYfM

139. Equivalent mass of FeS, inthe half reaction, FeSy; — Fe;O3 + SO,

is :

° Watch Video Solution

140. The equaivalent mass of HCI in the given reaction is

Ky,Cr,07 + 14HCl — 2KCl + 2CrCl3 + 3Cl3 + H,O

° Watch Video Solution

141. Equivalent mass of H3PO, when it disproportionate into

PH3 and H3PO3 is (mOl\Nt OfH3P02 =M)!

° Watch Video Solution

142. In the following reaction,

AsyS3+ H™ + NO; 7 NO + H,0 + AsOi_ + SOZ_ the equivalent


https://dl.doubtnut.com/l/_G89MT3jums9f
https://dl.doubtnut.com/l/_iZrH7YKDwXzG
https://dl.doubtnut.com/l/_RROSXphsnsXQ
https://dl.doubtnut.com/l/_BX6rcbhz84YU

mass of AsyS3 is related to its molecular mass M by :

° Watch Video Solution

143. Sulphur forms the chlorides S5CI, and SC1I,. The equivalent mass

of sulphur in SCI, is :

° Watch Video Solution

144. The equivalent mass of an element is 4. Its chloride has a vapour

density 59.25. Then, the valency of the elements is :

° Watch Video Solution

145. 6 x 102 mole K,Cr,0; reacts completely with 9 x 102 mole

X" to given XO; ** Cr- (3 +).The value of n is :

° Watch Video Solution



https://dl.doubtnut.com/l/_BX6rcbhz84YU
https://dl.doubtnut.com/l/_qf7V7wIvfWfT
https://dl.doubtnut.com/l/_fODQHGK5d8Fg
https://dl.doubtnut.com/l/_Ev4ZocGEwTTg
https://dl.doubtnut.com/l/_8RCiRSP0Fzxp

146. What mass of Hy(C504. 2H50 (mol.mass = 126) should be dissolved
in water to prepare 250mL of centinormal solution which act as a

reducing agent ?

° Watch Video Solution

147. The equivalent mass of the salt, KHC50,4. H,C504.4H50 when it
act as reducing agent is :

(a) M/1

(b) M/2

(c) M/3

(d) m/4

° Watch Video Solution

148. The equivalent mass of divalent metal is W. The molecular mass of

its chloride is :

| ° Wiak A \itdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_8RCiRSP0Fzxp
https://dl.doubtnut.com/l/_8NhhQGHgBeWX
https://dl.doubtnut.com/l/_enXBDA1AKDrV
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149. When Br03_ iron reacts with Br ™~ in acid medium, Br, is liberated.

The equivalent mass of Brs in this reaction is :

° Watch Video Solution

150. If M4 gram of metal A displaces mp gram of another metal B from
its salt solution and if the equivalent mass are E4 and Ep respectively

then equivalent mass of A can be expressed as :

° Watch Video Solution

151. Hydrazine reacts with K1Oj in presence of HC! as :
NoHy +I0; +2H" +Cl™ — ICI + N, + 3H,0

The equivalent masses of Ny Hy and KI1Oj3 respectively are :

° Watch Video Solution



https://dl.doubtnut.com/l/_enXBDA1AKDrV
https://dl.doubtnut.com/l/_3uQLY2n9P02r
https://dl.doubtnut.com/l/_wIhNzaD20PhE
https://dl.doubtnut.com/l/_yakIEWb3PFGu
https://dl.doubtnut.com/l/_yFNSQFtwQ5G6

152. What will be the normality of solution obtained by mixing

0.45N and 0.60NNaOH in the ratio 2: 1 by volume ?

o Watch Video Solution

153. A solution containing 2.7 x 1073 mol of A>T irons required
1.6 x 10~ % mole of MnQO, for the oxidation of A’T to AO; the

medium used is :

o Watch Video Solution

154. H,O, is used as bleaching reagent because on dissociation it gives
oxygen

1
<H202 — HQO -+ 502)
"Chachi420" used H,0, solution to bleach her hair and she required
2.24L0O4 gas at 1latm and 273K. She has a H,O, solution labelled '5.6V'

then what volume of such solution must she required to bleach her hair?

| o Watch Video Solution


https://dl.doubtnut.com/l/_yFNSQFtwQ5G6
https://dl.doubtnut.com/l/_wFyKrCxdr1vm
https://dl.doubtnut.com/l/_jl9tDNT4Vgg9

155. 1.25¢g of a solid dibasic acid is completely neutralised by 25mL of

0.25 molar Ba (OH), solution. Molecular mass of the acid is :

° Watch Video Solution

N N
156. 10mL of an NHCI, 20mL of 7H2504 and 30mL of ?HNO;;
are mixed together and volume made to one litre. The normality of H *

in the resulting solution is :

° Watch Video Solution

157. 0.45g of an acid of mol. Mass 90 was neutralised by 20mL of 0.54N

caustic potash (KOH). The basicity of acid is :

° Watch Video Solution



https://dl.doubtnut.com/l/_jl9tDNT4Vgg9
https://dl.doubtnut.com/l/_U9Ibg6uzxqGx
https://dl.doubtnut.com/l/_FZOmrulFhRep
https://dl.doubtnut.com/l/_T9wfd8Dl96Vj

158. A 3.4g sample of H,0, solution containing x % hyO5 by mass
requires xmL of a KMnQO, solution for complete oxidation under acidic

condition. The molarity of K MnQO, solution is :

o Watch Video Solution

159. What volume of O(g) measured at 1 atm and 273K will be formed
by action of 100mL of 0.5 NKMnQO, on hydrogen peroxide in an acid
solution ? The skeleton equation for the reaction s

KM’I’LO4 + H2504 + H2O2 — K2504 + M’I’LSO4 + 02 + HzO

o Watch Video Solution

160. A sample of 1.0g of solid FeyO30f80 % purity is dissolved in a
moderately concentrated HCl solution which is reduced by zinc dust. The
resulting solution required 16.7mL of a 0IM solution of the oxidant.

Calculate the number of electrons taken up by the oxidant.

| o WMl L\ Ol ikl n


https://dl.doubtnut.com/l/_7exfMGmlHfnC
https://dl.doubtnut.com/l/_9RKQ6gdBDxWs
https://dl.doubtnut.com/l/_ehJkee6BjHso
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161. KMnO, reacts with oxalic acid according to the equation
2MnO, +5C,07" +16H" — 2Mn** + 1000, + 8H,0 Here,

20mL of 0.1M KMnQO, is equivalent to :

° Watch Video Solution

162. Ratio of moles of F'e (ll) oxidised by equal volumes of equimolar

KMnO, and K,Cry07; solutions in acidic medium will be :

° Watch Video Solution

163. The mass of a mixture containing HCI and H550, is 0.1g On
treatment with an excess of an AgINOj; solution , reacted with this acid

mixture given 0.1435¢g of AgCI. Mass % of the H, SO, mixture is :

° Watch Video Solution



https://dl.doubtnut.com/l/_ehJkee6BjHso
https://dl.doubtnut.com/l/_01XpKmOyDA8g
https://dl.doubtnut.com/l/_EqeSkewWY6Ht
https://dl.doubtnut.com/l/_g5cBL4bsFWXw
https://dl.doubtnut.com/l/_jzs86i5MXoEX

164. A solution of NayS,03 is standardized iodometrically against 0.167g
of KBrOs. This process requires 50mL of the NayS,03 solution. What

is the normality of the Nay5,05. ?

o Watch Video Solution

165.0.80g is impure (NHy),S0, was boiled with 100mL of 0.2NNaOH
solution till all the NH3(g) evolved. The remaining solution was diluted
to 250mL. 25mL of this solution was neutralized using 5mL of
0.2NH,S0, solution. The percentage purity of the (NHy),S0, sample

is :

o Watch Video Solution

166. The NH; evolved due to complete conversion of N from 1.12¢g
sample of protien was absorbed in 45mL of 0.4NHOQOs. The excess acid

required 20mL of 1.0NaOH.The % N in the sample is :

o Watch Video Solution



https://dl.doubtnut.com/l/_jzs86i5MXoEX
https://dl.doubtnut.com/l/_avmLxm4o00SR
https://dl.doubtnut.com/l/_yU7svqj3s2Y1

167. Find out % of oxalate ion in a given sample of an alkali metal oxalate
salt, 0.30g of it is dissolved in 100mL water and its required 90mL of

centimolar KMnQ, solution in acidic medium :

o Watch Video Solution

168. 320mg of sample of magnesium having a coating of its oxide
required 20mL of 0.1M hydrochloric acid for the complete neutralisation

of the latter. The composition of the sample is :

o Watch Video Solution

169. The concentration of bivalent lead ions in sample of polluted water
that also contains nitrate ions is determined by adding solid sodium

sulphate (m = 142) to exacty 500mL water. Calculate the molarity of


https://dl.doubtnut.com/l/_yU7svqj3s2Y1
https://dl.doubtnut.com/l/_BughjzNZM2TT
https://dl.doubtnut.com/l/_eTVbpPWEGiKF
https://dl.doubtnut.com/l/_Ulg20YIbKZOj

lead ions if 0.355¢g of solium sulphate was needed for complete

precipitation of lead ions as sulphate.

° Watch Video Solution

170. What volume of HNO; (sqgravity 1.05gmL~! containing
12.6(%) of HNOQs;) that reduce into NO is required to oxidise iron

1gFeSOy4. TH50 in acid medium is :

° Watch Video Solution

171. The total volume of 0.1MKMnQO, solution that are needed to
oxidize 100mg each of ferrous oxalate and ferrous sulphate in a mixture

in acidic mediumis :

° Watch Video Solution



https://dl.doubtnut.com/l/_Ulg20YIbKZOj
https://dl.doubtnut.com/l/_Xyk5XcICdxpb
https://dl.doubtnut.com/l/_4MzU6rL11S98

172. When 2.5g of a sample of mohr's salt reacts completely with 50m L of

N
1—0KMnO4 solution. The % purity of the sample of Mohr's salt is :

° Watch Video Solution

173. A mole of a mixture of Mohr's salt and Fe 2(SO _4) 3requires500mL
ofMK 2Cr 20 7" for complete oxidation in acidic medium. The mole % of

the Mohr's salt in the mixture is :

° Watch Video Solution

174. The equivalent mass of a metal is twice to that of oxygen. How many
times is the equivalent mass of it's oxide than the equivalent mass of the

metal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_yhBoFqRu84Py
https://dl.doubtnut.com/l/_0xulbdyDho24
https://dl.doubtnut.com/l/_NTlQMQjpdNim

175. A metal oxide has the formula X,03. It can be reduced by hydrogen
to give free metal and water. 01596g of metal oxide requires 6mg of
hydrogen for complete reduction. The atomic mass of the metal (in amu)

is:

° Watch Video Solution

176. Calculate the mass of anhydrous oxalic acid, which can be oxidised to
CO,(g) by 100mL of an MnO, solution, 10mL of which is capable of

oxiding 50mL of 1INI~ to L.

° Watch Video Solution

177. A mixture of NaHC>,04 and KHC50,4. HyC50, required equal
volumes 0.2NKMnQO, and 0.122NNaOH separately. What is the molar

ratio of NaHC50, and KHC50,. HyC50, in the mixture ?

° Watch Video Solution



https://dl.doubtnut.com/l/_n1a8oO74pKEG
https://dl.doubtnut.com/l/_lDRYN92KW8cf
https://dl.doubtnut.com/l/_lIJPKi1dVEaO

178. Stannous sulphate (SnSO,) and potassium permanganate are used
as oxidising agents in acidic medium for oxidation of ferrrous ammnium
sulphate to ferric sulphate. The ration of number of moles of stannous
sulphate required per mole of ferrous ammonium sulphate to the
number of moles of KMnQO, required per mole of ferrous ammonium

sulphate, is:

o Watch Video Solution

179. If ag is the mass of NaHC50, required to neutralize 100mL of
0.2MNaOH and bg that required to reduce 100mL of 0.02mKMnO,

in acidic medium, then :

o Watch Video Solution

180. 2 mole, equimolar mixture of NayCy0, and HyC504 required V1L

of 0.1MKMnQO, in acidic medium for complete oxidation. The same


https://dl.doubtnut.com/l/_u5EbzKfRw26X
https://dl.doubtnut.com/l/_TCxIQvnKcgQJ
https://dl.doubtnut.com/l/_Wf8ggdUoJwEe

amount of the mixture required V5L of 0.2M NaOH for neutralization.

The ratioof V; — Vs is:

o Watch Video Solution

181. A mixture containing 0.05 mole of K;Cry;O; and 0.02 mole of
KMnO, was treated with excess of KI in acidic madium. The librated
iodine required 1.0L of NaS;0j3 solution for titration. Concentration of

NaS5,0;3 solution was :

o Watch Video Solution

182. 25m L of 2NHCI, 50mL of ANHNQO3 and xmL of 2MH,S0, are
mixed together and the total volume is made up to 1L after dilution.
50mL of this acid mixture completely reacted with 25mL of a 1Na;CO3

solution. The value of z is :

o Watch Video Solution



https://dl.doubtnut.com/l/_Wf8ggdUoJwEe
https://dl.doubtnut.com/l/_4LwzZ3DiQkx1
https://dl.doubtnut.com/l/_xR84YMpkuuEl
https://dl.doubtnut.com/l/_x8WRJ6z8Ooj0

183. In a iodomeric estimation, the following reactions occur
20u>" + 41~ — Cuyly + I, I, + 2NayS,03 — 2Nal + NayS,04
0.12 mole of CuSO4 was adde to excess of Kl solution and the liberated

iodine required 120mL of hypo. The molarity of hypo soulution was:

o Watch Video Solution

184. 1g mixture of equal number of mole of Li,Co3 and other metal
carbonate (M5CO;3) required 21.6mL of 0.5NHCI for complete
neutralisation reaction. What is the approximate atomic mass of the

other metal ?

o Watch Video Solution

185. 32g of a sample of FeSO,.7TH,0 were dissolved in dilute sulphuric
aid and water and its volue was made up to 1litre. 25mL of this solution
required 20mL of 0.02MKMnQO, solution for complete oxidation.

Calculate the mass% of F'eSO,.TH50 in the sample.



https://dl.doubtnut.com/l/_x8WRJ6z8Ooj0
https://dl.doubtnut.com/l/_2yNViz5JLjzL
https://dl.doubtnut.com/l/_Fe4hnnqMZsh9

| ° Watch Video Solution

186. In the mixture of (NaHCO3 + Na3COs3), volume of HCI required
is x mL with phenolphthalein indicator and y mL with methly orange
indicator in the same titration. Hence, volume of HCI for complete
reaction of NayCOs; is :

(a) 2x

(b) y

(c) x/2

(d) (y-x)

° Watch Video Solution

187. 0.1g of a solution containing Nay;CO3 and NaHCOj3 requires
10mL of 0.0LNHCI for neutralization using phenolphthalein as an

indicator. mass % of Nay,CQOj in solution is :

° Watch Video Solution



https://dl.doubtnut.com/l/_Fe4hnnqMZsh9
https://dl.doubtnut.com/l/_UawhRc4FRHk9
https://dl.doubtnut.com/l/_uV0TnJ6v4Kfl
https://dl.doubtnut.com/l/_u39QIEKss1K7

188. A mixture NaOH + Na;COj3 required 25mL of 01 M HCl using
phenolpththalein as the indicator. However, the same amount of the
mixture required 30mL of 0.IM HCl when methyl orange was used as the

indicator. The molar ration of NaOH and NayCOj5 in the mixture was:

o Watch Video Solution

189. When 100mL solution of NaOH and NaCOs was first titrated with
N/10 HCl in presence of HPh, 17.5mL were usedtill end point is obtained.
After this end point MeOH was added and 2.5mL of same HCl were

required to attain new end point. The amount NaOH in mixture is:

o Watch Video Solution

190. 1gram of a sample of CaCO3 was strongly heated and the CO,
liberated was absorbed iun 100mL of 0.5 M NaOH solution. Assuming 90%

purity for the sample, how many mL of 0.5M HCl would be required to


https://dl.doubtnut.com/l/_u39QIEKss1K7
https://dl.doubtnut.com/l/_A4ZrfJnfxJty
https://dl.doubtnut.com/l/_J2Vm0Ykwnf09

react with the resulting solution to reach the end point inpresence of

phenolphthaein?

o Watch Video Solution

191. A sample of pure sodium carbonate 0.318g is dissolved in water and
litrated with HCT solution. A volume of 60mL is required to reach the

methly orange end point. Calculate the molarity of the acid.

o Watch Video Solution

192. 10L of hard water required 5.6g of lime for removing haardness.

Hence temporary hardness in ppm of CaCOj3 is :

o Watch Video Solution

2+

193. 1L of pond water contains 20mg of Ca”" and 12mg of mg?" ions.

What is the volume of a 2NNay,COj5 solution required to soften 5000L


https://dl.doubtnut.com/l/_J2Vm0Ykwnf09
https://dl.doubtnut.com/l/_fxNJxXlkE5eC
https://dl.doubtnut.com/l/_nmzRjWCR9Pr9
https://dl.doubtnut.com/l/_pr0glhfvL3rJ

of pond water ?

° Watch Video Solution

194. One litre of sample of hard water contain 4.44mgCaCl, and 1.9mg

of MgC1I,. What is the total hardness in terms of ppm of CaCO5 ?

° Watch Video Solution

195. A mixture of NHyNOs and (NH,),HPO, contain 30.40 % mass
per cent of nitrogen. What is the mass ratio of the two components in

the mixture?

° Watch Video Solution

196. What volume of 75 % acohol by weight ( = O.SO%m?’) must be

used to prepare 150cm® of 30 % alcohol by mass (d = 0.90%7712) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_pr0glhfvL3rJ
https://dl.doubtnut.com/l/_YAlQhsTiKydB
https://dl.doubtnut.com/l/_rHQ4OhujJHFP
https://dl.doubtnut.com/l/_qrqAyMionlbn

197. Calculate the number of millilitre of NHjz(aq) solution
(d - 0.986%L) contain 2.5 % by mass N Hs, which will be required to

precipitate iron as Fe(OH), in a 0.8g sample that contains 50 % Fe;Os.

o Watch Video Solution

198. In the preparation of iron from haematite (Fe;O3) by the reduction
with carbon Fe;O3 + C — Fe + CO3 how much 80 % pure iron may

be produced from 120kg of 90 % pure Fe;O3 ?

o Watch Video Solution

199. A mineral consists of an equimolar mixture of the carbonates of two
bivalent metals. One metal is present to the extent of 12.5 % by mass
2.8¢g of the mineral on heating lost 1.32g of CO,. What is the % by mass

of the other metal ?

| ° Wiak A \itdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_qrqAyMionlbn
https://dl.doubtnut.com/l/_Sjh3dqiGh45E
https://dl.doubtnut.com/l/_mFVBpDdwGGID
https://dl.doubtnut.com/l/_L0VCvOPSutXz
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200. 6.2g of a sample containing Na;COs, NaHCQO3 and non-volatile
inert impurity on gentle heating loses 5% of its mass due to reaction
2NaHCO3 — NayCO3 + Hy0 4+ CO, . Residue is dissolved in water
and formed 100mL solution and its 10mL portion requires 7.5mL of
0.2M aqueous solution of BaCl, for complete precipitation of

carbonates. Determine mass (in gram) of NayCOjs in the original sample.

o Watch Video Solution

201. Nitric acid can be produced from NHj in three steps process below
(1) ANH;(g) + 505(g9) — 4NO(g) + 6H50(g) (n
2NO(g) + Oy — 2NO»(9) (1)
3NOs(g) + HyO(l) — 2HNOs(aq) + NO(g)  percent  yield of
1°t, 2" and 3 step are respectively 50 % , 60 % and 80 % respectively
then what volume of NH;3(g) at 1 atm and 0°C required to produced

15759 of HNOs.

| o Wiak A \itdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_L0VCvOPSutXz
https://dl.doubtnut.com/l/_WXlSSfZq6d0A
https://dl.doubtnut.com/l/_0kE9C46mJs2A
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202. 1M NaOH solution was slowly added into 1000mL of 183.75g
impure H5S0, solution and the following plot was obtained. The
percentage purity of H,SO, sample and slope of the curve respectively
are:

(a) 75%,1/3

(b) 80%;,-1/2

(c) 80%;,-1

(d) None of these

o Watch Video Solution

203. MnO, on ignition converts into Mn30O4. A sample of pyrolusite
having 75 % MnQO,, 20 % inert impurities and rest water is ignited in air

to constant mass. What is the percentage of Mn in the ignited sample ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0kE9C46mJs2A
https://dl.doubtnut.com/l/_KhrDUZbF9nyP
https://dl.doubtnut.com/l/_nalCcWETcxv4
https://dl.doubtnut.com/l/_86MGbfesV0Y1

204. A 1.0g sample of a pure organic compound containing chlorine is
fused with NayO to convert chlorine to NaCl. The sample is then
dissolved in water, and the chloride precipitated with AgNOs , giving
1.96g of AgCl. If the molecular weight of organic compound is 147, how

many chlorine atoms does each molecule contain?

o Watch Video Solution

205. A 0.60g sample consisting of only CaC50,4 and MgC50, is heated
at 500° C' converting the two salts of CaCo3 and MgCOj3. The sample
then weighs 0.465¢ . If the sample had been heated to 900° C, where the
products are CaO and MgO. What would the mixtures of oxides have

weighted ?

o Watch Video Solution

206. A metal M forms the sulphate M,(S0,);. A0.596 gram sample of

the sulphate reacts with excess BaCl, to given 1.220gBaS0O,. What is


https://dl.doubtnut.com/l/_86MGbfesV0Y1
https://dl.doubtnut.com/l/_Yml5EXHrg8PU
https://dl.doubtnut.com/l/_ufGS9vjjrlpn

the atomic mass of M? (Atomic mass : S = 32, Ba = 137.3)

o Watch Video Solution

207. Urea (Hy,NCONH,) is manufactured by passing CO5(g) through
ammonia solution followed by crystallization. CO, for the above reaction
is prepared by combustion of hydrocarbons. If combustion of 236kg of a
saturated hydrocarbon (C,, Hs, ) produces as much CO, as required

for production of 999.6kg urea then molecular formula of hydrocarbon is

o Watch Video Solution

208. 11.6g of an organic compound having formula C,, Hy,, , 5 is burnt in
excess of Os(g) initially taken in a 22.41 litre steel vessel. Before
reactioOn the gaseous mixture was at 273K with pressure reading 2 atm.
Aftercomplete combustion and loss of considerable amount of heat, the
mixture of product and excess of O, had a temperature of 546K and 4.6

atm pressure. The formula of organic compound is :


https://dl.doubtnut.com/l/_ufGS9vjjrlpn
https://dl.doubtnut.com/l/_tSRDUeI5a63i
https://dl.doubtnut.com/l/_OrQQTE9ONNbR

o Watch Video Solution

2009. H50, + 2K1 — 40 % yieldl, + 2KOH
H505 + 2KMnO4 + 3H3504 — 50 % yield

K504 + 2KMnSOy + 305 + 4H,0O 150mL of H,0, sample was
divided into two parts. First part was treated with K1 and formed KOH
required 200mL of %HTS'OZL for neutralisation. Other part was treated
with KMnQy yielding 6.74 litre of O, at 1 atm. and 273K. Using % vyield

indicated find volume strength of H,O, sample used.

o Watch Video Solution

210. SO,CI, (sulphuryl chloride) reacts with water to give a mixture of
H,S04 and HCI. What volume of 0.2MBa(OH), in needed to

completely neutralize 256m L of 0.2M SO,C'I, solution :

o Watch Video Solution



https://dl.doubtnut.com/l/_OrQQTE9ONNbR
https://dl.doubtnut.com/l/_f4rtB6DtilUW
https://dl.doubtnut.com/l/_uCr321Ihe1MP
https://dl.doubtnut.com/l/_wPhdTZOcf96D

211. 5g sample contain only Na;CO3 and NaySOy4. This sample is
dissolved and the volume made up to 250mL. 25mL of this solution
neutralizes 20mL of 0.1M H,50,. Calculate the percent of Nay SO, in

the sample.

o Watch Video Solution

212. By how much will the potential of half cell Cu™"? /Cu change if the

solutin is diluted to 100 times at 298 K ?

o Watch Video Solution

213. A silver coin weighing 11.34g was dissolved in nitric acid. When
sodium chloride was added to the solution all the silver (present as
AgNOs3) was precipitated as silver chloride. The mass of the precipitated

silver chloride was 14.35g. Calculate the percentage of silver in the coin.

o Watch Video Solution



https://dl.doubtnut.com/l/_wPhdTZOcf96D
https://dl.doubtnut.com/l/_VNEpodIb0Bje
https://dl.doubtnut.com/l/_jK8Kf5G29hbf
https://dl.doubtnut.com/l/_d9YjrQi6FJg4

214. Two elements X (at.mass 16) and Y (at.mass 14) combine to form
compounds A, B and C. The ratio be different masses of Y which
combine with a fixed mass of X in A, B and C'is 1:3:5. If 32 parts by
mass of X combines with 84 parts by mass of Y in B then in C, 16 parts by

mass of X will combine with ..... parts by mass of Y:

° Watch Video Solution

215. The conversion of oxygen to ozone occurs to the extent of 15 % only.
If mass of ozone that can be prepared from 67.2 of oxygen at 1 atm and

273K will be :

° Watch Video Solution

216. RH, (ion exchange resin) can replace Ca®" ions in hard water as
RH, + Ca®™ — RCa+2H™". If 1 L of hard water after passing

through RH, has pH = 3 then hardness in parts per million of Ca®" is:

° Watch Video Solution



https://dl.doubtnut.com/l/_d9YjrQi6FJg4
https://dl.doubtnut.com/l/_Uw3FTDVof44H
https://dl.doubtnut.com/l/_zqslYao5IHQV

217.100cm?® of a solution of an acid (Molar mass = 98) containing 29.4¢g
of the acid per litre were completely neutralized by 90.0cm?® of aq.

NaOH containing 20g of NaOH per 500cm?. The basicity of the acid is :

o Watch Video Solution

218.20m L of 0.1M solution of compound NayCO3. NaHCOs. 2H,50 is
titrated against 0.05M HCI. xmL of HCI is used when phenolphthalein
is used as an indicator and y mL of HCl is used when methly orange is the

indicator in two separate titrations. Hence (y — x) is :

o Watch Video Solution

219. A sample containing HAsO;, (mol. mass = 108) and weighing 3.78¢
is dissolved and diluted to 250mL in a volumetric flask. A50mL sample
(aliquat) is withdrawn with a pipet and titrated with 35mL of 0.05M

solution of I,. Calculate the percentage HAsO, in the sample :


https://dl.doubtnut.com/l/_zqslYao5IHQV
https://dl.doubtnut.com/l/_cvGR86ZZ2sCP
https://dl.doubtnut.com/l/_8ivy4DNgCmML
https://dl.doubtnut.com/l/_zIpzOs1WUqqp

° Watch Video Solution

220. A mixture of F'eO and Fe;0; is completely reacted with 100mL of
0.25M acidified KMnQO, solution. The resulting solution was then
treated with Zn dust which converted Fe3™ of the solution to fe?*. The
Fe*= required 100mL of 0.10M K,Cr,0~ solution. Find out the weight

% Fey04 in the mixture.

° Watch Video Solution

221.To a 10mL, 1M aqueous solution of Bry, excess of NaOH is added
so that all Br, is disproportionated to Br~ 234 BrO; . The resulting
solution is free from Br ™~ , by extraction and excess of OH = neutralised
by acidifying the solution. The resulting solution is sufficient to react with
2g of impure CaC504 (M = 128%ol> sample. The % purity of oxalate

sample is :

° Watch Video Solution



https://dl.doubtnut.com/l/_zIpzOs1WUqqp
https://dl.doubtnut.com/l/_IjXr68BU4le6
https://dl.doubtnut.com/l/_x6Uel6aNC9OS

222. 0.10g of a sample conining CuCos and some inert impurity was
dissolved in dilute sulphuric acid and volume made up to 50mL. This
solution was added into 50mL of 0.04MKI solution where copper
precipitates as Cul and I~ is oxidized into I;~ . A10mL portion of this
solution is taken for analysis, filtered and made up free I;” and then
treated with excess of acidic permanganate solution. Liberated iodine
required 20mL of 2.5m M sodium thiosulphate solution to reach the end

point . Determine mass percentage of CuCOj in the original sample.

o Watch Video Solution

223. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requires x mole of KMnQ, in acidic medium for complete oxidation. x is :

o Watch Video Solution

224. An impure sample of sodium oxalate (nasCy04) weighing 0.2g is

dissolved in aqueous solution of H,S0, and solution is titrated at


https://dl.doubtnut.com/l/_SktsXTUEnReg
https://dl.doubtnut.com/l/_aKMgNmgJRReH
https://dl.doubtnut.com/l/_UvKWmMezj9EH

70°C, requiring 45mL of 0.02MKMnQO, solution. The end point is
overrun, and back titration in carried out with 10mL of 0.1 M oxalic acid

solution. Find the % purity of NasC504 in sample :

o Watch Video Solution

225. 0.5g mixture of K5Cry07; and KMnO, was treated with excess of
KT in acidic medium. lodine liberated required 150cm® of 0.1N solution
of thiosulphate solution for titration. Find the percentage of K,Cr,07 in

the mixture :

o Watch Video Solution

226. A 50mL of solution of I, is divided into two unequal parts. | part
with hypo solution in acidic medium. 15mL of 0.4M hypo was consumed.
Il part was added with 100mL of 0.3M NaOH solution. Residual base
required to mL of 0.3MH,S50, solution for complete neutralization.

What was the initial concentration of I5?

. l


https://dl.doubtnut.com/l/_UvKWmMezj9EH
https://dl.doubtnut.com/l/_PS4WIEgRidjR
https://dl.doubtnut.com/l/_LSfhKsGRj6CW

l @ yvatch video Solution ]

227. A mixture of H,S0, and H,C50, (oxalic acid) and some inert
impurity weighing 3.185g was dissolved in water and the solution made
up to 1 litre. 10mL of this solution require 3mL of 0.1NNaOH for
complete neutralization. In another experimant 100mL of the same
solution in hot condition required 4mL of 0.02M K MnQO, solution for

complete reaction. The mass % of Hy SO, in the mixture was :

o Watch Video Solution

228. The concentration of an oxalic acid solution is x mol litre”*-1. 40m L of
this solution reacts with 16m.L of 0.05M acidified KMnQ,. What is the
pH of 'xX' M oxalic acid solution ? (Assume that oxalic acid dissociates

completely).)

o Watch Video Solution



https://dl.doubtnut.com/l/_LSfhKsGRj6CW
https://dl.doubtnut.com/l/_VJXAO3O9O3QB
https://dl.doubtnut.com/l/_Dsi730YGe5AY

